Exam Name: Oracle Database 11g: New Features for Administrators
Exam Type Oracle
Exam Code: 170-050 Total Questions: 183

QUESTION NO: 1

Identify the two direct sources from where SQL plans can be loaded into the SQL plan baselines.

(Choose two.)

A. Cursor cache
B. Stored outline
C. SQL Tuning Set

D. Automatic Workload Repository (AWR) shapshots

Answer: A, C

QUESTION NO: 2

Which two statements about workload capture and replay operations are true? (Choose two.)

A.
B.

clean state for workload replay.

clean state for captur,

'ng the workload

The clients must be created manually on the test machines to perform more realistic testing.
Restart the database in RESTRICTED mode before beginning workload replay to enable a

Restart the database in RESTRICTED mode before beginning workload capture to enable a

C.
D

. The application state

replay system when the workload replay begins.

Answer: C, D

QUESTION NO: 3
View the Exhibit exhibit]

of the capture system must be identical to the ap

to examine the series of SQL commands.

blication state of the

80L> SELECT signatur
accepted, fixed, aut
FROM dba =gl plan ba

BIGNATURE SQL_HANDLE

B.06ZE+18 VS S0L 6f
B.D6ZE+18 HYs S0L_Gf

sgl handle, plan name, origin, enabled,
bpurge

Eelines;

3
==

PLAN NAME CORIGIN ENAELED A

9Y8 80L PLAN lea AUTO-CAPTURE YEX
8YS_80QL _PLAN 4be AUTO-CAPTURE YES

¥4
2

=]

CCEPTED FIXZED
jufe] e
YE3 MO

View the Exhibit exhibit2 to examine the plans available in the SQL plan baseline.
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A0L> SHOW PARAMETEER CETIMIZER

HNAME TYEPE VALUE
optimizer capture =gl plan baselines boolean TRUE
optimizer dynamic sampling integer i
optimizer features enable string 11.1.0.86
optimizer index caching integer 0
optimizer index cost adj integer i0no
optimizer mode string ALL RO
optimizer secure view merging bhoolean TRUE
optimizer use invisible indexes boolean FATLSE
optimizer use pending statistics baolean FATLSE
optimizer use sgl plan baselines boolean TRUE

0L> FELECT * FROM sh.sales WHERE guantity sold = 40 ORDER BY prod id;
8QL> SELECT * FROM sh.sales WHERE guantity sold > 40 ORDER EBY prod id;
2QL>= ALTER ZSESEI0ON 3JIET COPTIMIZER MODE=FIR3IT ROWSH;

8QL> SELECT * FROM sh.ssles WHERE guantity sold > 40 ORDER EBY prod id;

The baseline in the first fow of the Exhibit is created when OPTIMIZER_MODE was set to
FIRST_ROWS.
Which statement is trueif the SQL query in exhibitl is executed again when the value of
OPTIMIZER_MODE is get to FIRST_ROWS?

A. The optimizer uses a|new plan because none of the plans‘in the exhibij2 are fixed plans.

B. The optimizer uses the plan in the second row. of the exhibit2 because |t is an accepted plan.

C. The optimizer uses the plan in the first row of the.exhibit2 because it is|the latest generated
plan.

D. The optimizer uses the plan in the first row of the exhibit2 because OPTIMIZER_MODE was
set to FIRST_ROW during its creation.

Answer: B

QUESTION NO: 4
Which statement descrilpes the effect of table redefinition on the triggers dttached to the table?

A. All triggers on the table remain valid.

B. All triggers on the table are invalidated and are automatically revalidated with the next DML
execution on the table.

C. All triggers on the table are invalidated and must be manually recompiled before the next DML
execution on the table.

D. Only triggers that are affected by the changes to the structure of the table are invalidated and
automatically revalidated with the next DML execution on the table.

Answer: B

QUESTION NO: 5

USER_DATA is a nonencrypted tablespace that contains a set of tables with data. You want to
convert all existing data in the USER_DATA tablespace and the new data into the encrypted
format. Which methods would you use to achieve this? (Choose all that apply.)

A. Use Data Pump to transfer the existing data to a new encrypted tablespace.
B. Use ALTER TABLE..MOVE to transfer the existing data to a new encrypted tablespace.
C. Use CREATE TABLE AS SELECT to transfer the existing data to a new encrypted tablespace.
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D. Enable row movement for each table to be encrypted and then use ALTER TABLESPACE to
encrypt the tablespace.

E. Encrypt the USER_DATA tablespace using the ALTER TABLESPACE statement so that all
the data in the tablespace is automatically encrypted.

Answer: A, B, C

QUESTION NO: 6

Evaluate the following block of code:

BEGIN
DBMS_NETWORK_ACL_ADMIN.CREATE_ACL (
acl => 'mycompany-com-permissions.xml’,
principal =>'ACCT_MGR’,

is_grant => TRUE,

privilege => ‘connect’);
DBMS_NETWORK_ACL_ADMIN.ASSIGN_ACL (
acl => 'mycompany-com-permissions.xml’,

host => "*.mycompany.com’);

END;
What is the outcome of the above code?

A. It produces an error hecause a fully qualified host name needs to be specified.

B. It produces an error Qecause the range of ports associated with the hos$ts has not been
specified.

C. It creates an access ¢ontrol list (ACL) with the user ACCT_MGR who dets the CONNECT and
RESOLVE privileges

D. It creates an access ¢ontrol list (ACL) with the user ACCT_MGR who dets the CONNECT
privilege but not the RESOLVE privilege:

Answer: C

QUESTION NO: 7

Which steps are mandajory to enable Direct NFS?

1. Mount all required filg systems using the kernel NFS driver.

2. Create an oranfstab f[le containing the attributes for each NFS server t@ be accessed using
Direct NFS.

3. Replace the ODM library libodm11.so_stub with libodm11.so.

A.2and 3
B.1and 3
C.land?2
D.1,2and 3

Answer: B

QUESTION NO: 8
Which statements are true regarding the concept of problems and incidents in the fault
diagnosability infrastructure for Oracle Database 11g? (Choose all that apply.)

A. The problem key is the same as the incident number.

B. Every problem has a problem key, which is a text string that describes the problem.

C. The database makes an entry into the alert log file when problems and incidents occur.

D. The database sends an incident alert to the Oracle Enterprise Manager Database Home page.

E. Only the incident metadata and dumps are stored in the Automatic Diagnostic Repository
(ADR).
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Answer: B,C, D

QUESTION NO: 9

You are managing an Oracle Database 11g database. You want to take a backup on tape drives
of the USERS tablespace that has a single data file of 900 MB. You have tape drives of 300 MB
each. To accomplish the backup, you issued the following RMAN command:

RMAN>BACKUP

SECTION SIZE 300M

TABLESPACE users;

What configuration should be effected to accomplish faster and optimized backups by using the

above command?

A. The SBT channel must be configured, with the MAXPIECESIZE set to 300 MB.

B. The SBT channel must be configured, with the parallelism setting for the SBT device set to 3.

C. The COMPATIBLE initialization parameter for the database instance must be set to at least
10.0.

D. The SBT channel must be configured, with the default parallelism setting for the SBT device
setto 1.

Answer: B

QUESTION NO: 10
When executing a SQL vorkload, you choose to generate execution plans only, without collecting
execution statistics. Which two statements describe the implications of this? (Choose two.)

A. It produces less accuyate results of the comparison-analysis.

B. It automatically calls the SQL Tuning Adyvisor.forrecommendations.
C. It shortens the time 0}' execution and reduces the impact on system reqources.

D. Only the changes in fhe execution plan, and not performance regressign, are detected.

Answer: A, C

QUESTION NO: 11
You are managing an Ofacle Database 11g database with the ASM storage. The database is
having big file tablespades—¥eu-wantfilesto-openfasterandlesstmemorny to be used in the
shared pool to manage the extent maps. What configuration would you effect to achieve your
objective? (Choose all that apply.)

A. Set the ASM compatibility attribute for the ASM disk group to 11.1.0.

B. Set the RDBMS compatibility attribute for the ASM disk group to 11.1.0.

C. Set the COMPATIBLE initialization parameter for the ASM instance to 11.1.0.

D. Set the COMPATIBLE initialization parameter for the database instance to 11.1.0.

Answer: A, D

QUESTION NO: 12

You want to take the backup of the USERS tablespace. It has a single data file of 900 MB.. You
have tape drives of 300 MB each. The SBT channel is configured for the RMAN. To accomplish
the backup, you issued the following RMAN command:

RMAN> BACKUP SECTION SIZE 300M TABLESPACE users;

Which two statements are true regarding the execution of the above command? (Choose two.)

A. The backup piece size will be limited to 300 MB.
B. The operation is accomplished using the default channel available.
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C. The RMAN parallelizes the backup although the parallelism is not set for a channel.
D. Three channels for the tape drive must be configured by setting the parallelism to three.

Answer: A, B

QUESTION NO: 13
View the Exhibit.

SQL> DEBSCRIEBE CUSTCOMERZ OEE

Name Null? Type

CU3T_ID NUMEER

CU3T_ FIRST NAME NOT NULL WVARCHAREZ (Z0)
CU3T_ LAST MAME NOT NULL VARCHARE (40)
CU3T_ GENDER CHAR (1)

CU3T _YEAR OF BTRTH HNUMEER (4}
CU3T MARTTAL 3TATUS VARCHARZ (Z0)
CU3T STREET_ADDRESS NOT NULL VARCHARZ (40)
CU3T FPO3TATL COD NOT NOLL 9ARCHARZ (10)
CUaT CITY NOT NULL YARCHARZ (30)
CUST 3TATE PROVINCE VARCHARZ (40)
COUNTRY TID NOT NULL JHAR(Z)

CU3T MATN PHONE |[NUMEER WARCHARZ (25)
CU3T TNCCOME LEVHL WARCHARZ (30)
CU3T CREDIT LIMIT NUMEER

CU3T_ EMATL WARCHAREZ (30)

Examine the following cbmmand that is executed for the TRANSPORT table in the SH schema:
SQL> SELECT DBMS_BTATS.CREATE_EXTENDED_STATS('sh’', ‘custgmers_obe',
'(country_id,
cust_state_province)') HROM dual;

Which statement descrilpes the significance of this command?

A. It collects statistics inta_the Im:nrling area in the data dirtinnary

B. It creates a virtual hidden column in the CUSTOMERS_OBE table.
C. It collects statistics with AUTO_SAMPLE_SIZE for ESTIMATE_PERCENT.

D. It creates a histogram to hold skewed information about the data in the columns.

Answer: B

QUESTION NO: 14
View the Exhibit to examine the parameter values.
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30L* 3J3HOW PARAMETER TARGET

MAME T¥PE VATLUE
archive lag target integer 0

db flashback retention target integer 1440
fast start 1o target integer 0
fast start mttr target integer ]
MEMOrY max target hig integer O
nemory _target hig integer O

pya aggregate target bhig integer S0M
sga target big integer Z27EM

You are planning to set the value for the MEMORY_TARGET parameter of your database
instance.
What value would you assign?

A. 90 MB
B. 272 MB
C. 362 MB
D. 1440 MB

Answer: C

QUESTION NO: 15
You installed Oracle Dajabase 11g and are performing a manual upgrade| of the Oracle9i
database. As a part of the upgrade process; you execute the following scijipt:

SQL>@utlullli.sql.
Which statement about the execution of this script is true?

A. It must be executed ffom the Oracle Database 11g environment.
B. It must be executed gnly after the. SYSAUX tablespace has been created.
C. It must be executed ffom the environment of the database that is being upgraded.

D. It must be executed gnly after AUTOEXTEND is set to ON for all existgg tablespaces.

E. It must be executed ffom both the Oracle Database 11g and Oracle Database 9i environments.

Answer: C

QUESTION NO: 16
Which three statements about performance analysis by SQL Performance Analyzer are true?
(Choose three.)

A. It detects changes in SQL execution plans.

B. It produces results that can be used to create the SQL plan baseline.

C. The importance of SQL statements is based on the size of the objects accessed.

D. It generates recommendations to run SQL Tuning Advisor to tune regressed SQLSs.

E. It shows only the overall impact on workload and not the net SQL impact on workload.

Answer: A, B, D
QUESTION NO: 17
Which tasks can be accomplished using the Enterprise Manager Support Workbench in Oracle

Database 11g? (Choose all that apply.)

A. Generate reports on data failure such as data file failures.
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B. You can package and upload diagnostic data to Oracle Support.
C. You can track the Service Request (SR) and implement repairs.
D. You can manually run health checks to gather diagnostic data for a problem.

Answer: B, C,D

QUESTION NO: 18
Which statement is true

regarding the VALIDATE DATABASE command?

A. It checks the database for intrablock corruptions only.

B. It checks for block corruption in the valid backups of the database.
C. It checks the database for both intrablock and interblock corruptions.
D. It checks for only those corrupted blocks that are associated with data files.

Answer: A

QUESTION NO: 19

Which two are the prerequisites to enable Flashback Data Archive? (Choose two.)

A. Undo retention guara
B. Database must be ru
C. Automatic undo man
D. The tablespace on w|

Automatic Segment §

Answer: C, D

QUESTION NO: 20
You are managing the A
same system with the n
You issued the following
RMAN> CONNECT tard
RMAN> DUPLICATE TA
TO dupdb

FROM ACTIVE DATAB

htee must be enabled.

Nning in archivelog mode.

hgement must be enabled.

hich the Flashback Data Archive is created must |
bpace Management (ASSM).

PPPROD database as a DBA. You plan to duplic
hme DUPDB.

et sys/sys@APPPROD
\RGET DATABASE

ASE

RMAN commands to create a duplicate databasg:

e managed with

hte this database in the

D

DB_FILE_NAME_CON

'/scratch/oracle/oradata/dupdb/'

SPILE

PARAMETER_VALUE_

CONVERT '/oracle/oradata/prod/,

‘/scratch/oracle/oradata/dupdb/'

SET SGA_MAX_SIZE =

‘300M*

SET SGA_TARGET = '250M'

SET LOG_FILE_NAME_CONVERT ‘'/oracle/oradata/prod/redo/',
'/scratch/oracle/oradata/dupdb/redo/';

Which three are the prerequisites for the successful execution of the above command? (Choose

three.)

A. The source database

should be open.

B. The target database should be in ARCHIVELOG mode if it is open.
C. RMAN should be connected to both the instances as SYSDBA.
D. The target database backups should be copied to the source database backup directories.
E. The password file must exist for the source database and have the same SYS user password

as the target.

Answer: B, C, E
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QUESTION NO: 21

You are managing an Oracle Database 11g ASM instance having three disks in a disk group with
ASM compatibility attribute set to 11.1.0 and redundancy set to high. One of the disks in the disk
group becomes unavailable because of power failure. Which statements will be true in this
scenario? (Choose all that apply.)

A. The disk automatically goes offline.

B. The disk is immediately dropped from the disk group.

C. The ASM tracks the extents that are modified during the outage.

D. The ASM migrates the extents from the unavailable disk to the remaining disks.

Answer: A, C
QUESTION NO: 22

Which statement is true regarding the retention policy for the incidents accumulated in the
Automatic Diagnostic Repository (ADR)?

. The incident metadata G ed-and-the,DBA closes the SR.
. The incident files and dumps are not retalned in the ADR for the manully created incidents.
. The incident files are|retained but the incident metadata is purged whep the problem is
resolved and the DBA closes the SR
. The default setting is|for one year after which the incident metadata is purged from the ADR
and the files are retained for one month.

o Ow>»

Answer: D

QUESTION NO: 23
You opened the encryption wallet and then‘issued the following command:
SQL>CREATE TABLEYPACE securespace
DATAFILE '/home/user/pradata/secure0Ll.dbf'
SIZE 150M

ENCRYPTION USING 'BDES168'

DEFAULT STORAGE(EHNCRYPT);

Then you closed the wallet. Later, you issued the following command to cfeate the EMPLOYEES
table in the SECURES for the EMPID column.
What is the outcome?

A. It creates the table and encrypts the data in it.

B. It generates an error because the wallet is closed.

C. It creates the table but does not encrypt the data in it.

D. It generates an error because the NO SALT option cannot be used with the ENCRYPT option.

Answer: B

QUESTION NO: 24

Examine the following PL/SQL block:

SET SERVEROUTPUT ON

SET LONG 10000

ECLARE report clob;

BEGIN

report := DBMS_SPM.EVOLVE_SQL_PLAN_BASELINE();
DBMS_OUTPUT.PUT_LINE(report);

END;

Which statement describes the effect of the execution of the above PL/SQL block?

Page 8 of 62

[Get Certified @ TEST-KINGS.COM



http://www.test-kings.com
http://www.test-kings.com

Exam Name: Oracle Database 11g: New Features for Administrators

Exam Type Oracle

Exam Code: 170-050 Total Questions: 183

A. The plan baselines are verified with the SQL profiles.

B. All fixed plan baselines are converted into nonfixed plan baselines.

C. All the nonaccepted SQL profiles are accepted into the plan baseline.

D. The nonaccepted plans in the SQL Management Base are verified with the existing plan
baselines.

Answer: D

QUESTION NO: 25
In which two aspects does hot patching differ from conventional patching? (Choose two.)

A. It consumes more memory compared with conventional patching.

B. It can be installed and uninstalled via OPatch unlike conventional patching.

C. It takes more time to install or uninstall compared with conventional patching.

D. It does not require down time to apply or remove unlike conventional patching.

E. It is not persistent across instance startup and shutdown unlike conventional patching.

Answer: A, D

QUESTION NO: 26
Which statement about the enabling of table compression in Oracle Datahase 119 is true?

A. Compression can be |enabled at the table, tablespace, or partition levellfor direct loads only.

B. Compression can be [enabled only at the table level for-both direct loads and conventional
DML.

C. Compression can beenabled at the table, tablespace; or partition level for conventional DML
only.

D. Compression can belenabled at the table; tablespace, or partition level for both direct loads
and conventional DML.

Answer: D

QUESTION NO: 27
Which are the prerequisites for performing flashback transactions on your|database? (Choose all
that apply.)

A. Supplemental log must be enabled.

B. Supplemental log must be enabled for the primary key.

C. Undo retention guarantee for the database must be configured.

D. Execute permission on the DBMS_FLASHBACK package must be granted to the user.

Answer: A, B, D

QUESTION NO: 28

You are managing an Oracle Database 11g database. You want to take the backup of
MULT_DATA, a big file tablespace of size 100 TB on tape drive, but you have tape drives of only
10 GB each. Which method would accomplish the task quickly and efficiently?

A. intrafile parallel backup

B. parallel image copy backup

C. backup with MAXPIECESIZE configured for the channel

D. parallel backup with MAXPIECESIZE configured for the channel

Answer: A
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QUESTION NO: 29
Which statements are true regarding the Query Result Cache? (Choose all that apply.)

A. It can be set at the system, session, or table level.

B. It is used only across statements in the same session.

C. It can store the results from normal as well as flashback queries.

D. It can store the results of queries based on normal, temporary, and dictionary tables.

Answer: A, C

QUESTION NO: 30

You want to analyze a SQL Tuning Set (STS) using SQL Performance Analyzer in a test
database. Which two statements are true regarding the activities performed during the test
execution of SQLs in a SQL Tuning Set? (Choose two.)

A. Every SQL statement in the STS is considered only once for execution.

B. The SQL statements in the STS are executed concurrently to produce the execution plan and
execution statistics.

C. The execution plan a|1d execution statistics are computed for each SQL statement in the STS.

D. The effects of DDL apd DML are considered to produce the execution plan and execution
statistics.

Answer: A, C

QUESTION NO: 31
Which two changes and|their effect on the system can'be tested by using the Database Replay
feature? (Choose two.)

A. multiplexing of the control file

B. database and operating system upgrades

C. adding the redo log member to the database

D. changing the databage storage to. ASM-managed storage

Answer: B, D

QUESTION NO: 32

You executed the following commands:

SQL> ALTER SESSION SET OPTIMIZER_USE_PENDING_STATISTICS = false;

SQL> EXECUTE DBMS_STATS.SET_TABLE_PREFS('SH', 'CUSTOMERS', 'PUBLISH',false");
SQL> EXECUTE DBMS_STATS.GATHER_TABLE_STATS('SH', 'CUSTOMERS");

Which statement is correct regarding the above statistics collection on the SH.LCUSTOMERS
table in the above session?

A. The statistics are stored in the pending statistics table in the data dictionary.

B. The statistics are treated as the current statistics by the optimizer for all sessions.

C. The statistics are treated as the current statistics by the optimizer for the current sessions only.

D. The statistics are temporary and used by the optimizer for all sessions until this session
terminates.

Answer: A
QUESTION NO: 33

The Database Resource Manager is automatically enabled in the maintenance window that runs
the Automated Maintenance Task. What is the reason for this?
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A. to prevent the creation of an excessive number of scheduler job classes

B. to allow the Automated Maintenance Tasks to use system resources without any restriction

C. to allow resource sharing only among the Automated Maintenance Tasks in the maintenance
window

D. to prevent the Automated Maintenance Tasks from consuming excessive amounts of system
resources

Answer: D

QUESTION NO: 34
Which is the source used by Automatic SQL Tuning that runs as part of the AUTOTASK
framework?

A. SQL statements that are part of the AWR baseline only

B. SQL statements based on the AWR top SQL identification

C. SQL statements that are part of the available SQL Tuning Set (STS) only

D. SQL statements that are available in the cursor cache and executed by a user other than SYS

Answer: B

QUESTION NO: 35
View the Exhibit and exapmine the output.
20L> SELECT flashi}ack_archive_name,status FROM
2 dba_flashback_archive
3 /

[FLASHEACK_ARCHIVE[NA STATUS

You executed the followjng command to enable Flashback Data Archive gn the
EXCHANGE_RATE table:
ALTER TABLE exchande_rate FLASHBACK ARCHIVE;
What is the outcome of thiscommand?

A. The table uses the default Flashback Archive.

B. The Flashback Archive is created on the SYSAUX tablespace.

C. The Flashback Archive is created on the same tablespace where the tables are stored.

D. The command generates an error because no Flashback Archive name is specified and there
is no default Flashback Archive.

Answer: D

QUESTION NO: 36
View the Exhibit to examine the error during the database startup.
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A0L> 3TARTUF
Total System Glohal Area 426564640 bytes

Fixed 8ize 1300352 hytes
Variable Size 180357248 bytes
Database Buffers 2390753328 hytes
Redo Buffers E13171Z bytes

Database mounted.
ORA-01157: canncot identify/lock data file 4 - =ee DEWR trace file
CRA-01110: data file 4: "/ull/appforacleforadata/orcl/users01.db£"

You open an RMAN session for the database instance. To repair the failure, you executed the
following as the first command in the RMAN session:

RMAN> REPAIR FAILURE;

Which statement describes the consequence of the command?

A. The command performs the recovery and closes the failures.

B. The command only displays the advice and the RMAN script required for repair.

C. The command produces an error because the ADVISE FAILURE command has not been
executed before the REPAIRFATCOREcommand:

D. The command executes the RMAN script to repair the failure and remqgves the entry from the
Automatic Diagnostid Repository (ADR).

Answer: C

QUESTION NO: 37
You issued the following command on the temporary.tablespace LMTEMP in your database:
SQL>ALTER TABLESPACE Imtemp SHRINK SPACE KEEP 20M;
Which requirement must be fulfilled for this:command to succeed?

A. The tablespace must|be locally. managed.

B. The tablespace must|have only.one'temp file.

C. The tablespace must|be made nondefault and offline.
D. The tablespace can nemain as the default but must have no active sort|operations.

Answer: A

QUESTION NO: 38

You are working as a DBA on the decision support system. There is a business requirement to
track and store all transactions for at least three years for a few tables in the database. Automatic
undo management is enabled in the database. Which configuration should you use to accomplish
this task?

A. Enable Flashback Data Archive for the tables.

B. Enable supplemental logging for the database.

C. Specify undo retention guarantee for the database.

D. Create Flashback Data Archive on the tablespace on which the tables are stored.

E. Query VSUNDOSTAT to determine the amount of undo that will be generated and create an
undo tablespace for that size.

Answer: A

QUESTION NO: 39
Your organization decided to upgrade the existing Oracle 10g database to Oracle 11g database
in a multiprocessor environment. At the end of the upgrade, you observe that the DBA executes
the following script:
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SQL> @utlrp.sql
What is the significance of executing this script?

A. It performs parallel recompilation of only the stored PL/SQL code.

B. It performs sequential recompilation of only the stored PL/SQL code.

C. It performs parallel recompilation of any stored PL/SQL as well as Java code.

D. It performs sequential recompilation of any stored PL/SQL as well as Java code.

Answer: C

QUESTION NO: 40
Which two are the uses of the ASM metadata backup and restore (AMBR) feature? (Choose two.)

A. It can be used to back up all data on ASM disks.

B. It can be used to re-create the ASM disk group with its attributes.

C. It can be used to recover the damaged ASM disk group along with the data.

D. It can be used to gather information about a preexisting ASM disk group with disk paths, disk
name, failure groups, attributes, templates, and alias directory structure.

Answer: B, D

QUESTION NO: 41
You executed the followjng PL/SQL block successfully:
VARIABLE tname VARCHAR2(20)

BEGIN
dbms_addm.insert_finding_directive (NULL, DIR_NAME=>'Detail CPU Ugage',
FINDING_NAME=>'CPUYl Usage',
MIN_ACTIVE_SESSIONS=>0, MIN_PERC_IMPACT=>90);
‘tname :='database ADDM task4’,
dbms_addm.analyze_di(:tname, 150, 162);

END;
/
Then you executed the following:‘command:

SQL> SELECT dbms_afdm.get_report(:thame) FROM DUAL,;
The above command prpduces Automatic Database Diagnostic Monitor (ADDM) analysis ___ .

A. with the CPU Usage finding if it is less than 90

B. without the CPU Usage finding if it is less than 90

C. with the CPU Usage finding for snapshots below 90

D. with the CPU Usage finding for snapshots not between 150 and 162

Answer: B

QUESTION NO: 42
Which statements describe the capabilities of the DBMS_NETWORK_ACL_ADMIN package?
(Choose all that apply.)

A. It can be used to allow the access privilege settings for users but not roles.

B. It can be used to allow the access privilege settings for users as well as roles.

C. It can be used to control the time interval for which the access privilege is available to a user.

D. It can be used to selectively restrict the access for each user in a database to different host
computers.

E. It can be used to selectively restrict a user's access to different applications in a specific host
computer.
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Answer: B,C, D

QUESTION NO: 43
To generate recommendations to improve the performance of a set of SQL queries in an
application, you execute the following blocks of code:

BEGIN

dbms_advisor.create_task(dbms_advisor.sglaccess_advisor, TASK1");

END;

/

BEGIN

dbms_advisor.set_task_parameter(TASK1','/ANALYSIS_SCOPE','ALL");
dbms_advisor.set_task_parameter('TASK1','MODE',COMPREHENSIVEY;

END;

/

BEGIN

dbms_advisor.execute_task('TASK1");
dbms_output.put_line(dbms_advisor.get_task_script(‘'TASK1"));

END;
/
The blocks of code exegute successfully; however, you do not get the required outcome.
What could be the reasgn?

A. A template needs to be associated with the task.

B. A workload needs to pe associated with the task.

C. The partial or complejte workload scope needs to be associated with the task.

D. The type of structures (indexes, materialized.views, or partitions) to be [recommended need to
be specified for the task.

Answer: B

QUESTION NO: 44
You are managing an Oracle Database 11g instance with ASM storage. The ASM instance is
down. To know the detajls of thedisks in the DATA disk group, you issued the following
ASMCMD command:
ASMCMD> Isdsk -1 -d DATA

Which statement is true regarding-the-outcome-of-this-command?

A. The command succeeds but it retrieves only the disk names.

B. The command produces an error because the ASM instance is down.

C. The command succeeds but it shows only the status of the ASM instance.

D. The command succeeds and retrieves information by scanning the disk headers based on an
ASM_DISKSTRING value.

Answer: D

QUESTION NO: 45
You plan to set up the Automatic Workload Repository (AWR) baseline metric thresholds for a
moving window baseline. Which action would you take before performing this task?

A. Compute the baseline statistics.

B. Take an immediate AWR snapshot.

C. Decrease the window size for the baseline.
D. Decrease the expiration time for the baseline.

Answer: A
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QUESTION NO: 46

You need to create a partitioned table to store historical data and you issued the following
command:

CREATE TABLE purchase_interval

PARTITION BY RANGE (time_id)

INTERVAL (NUMTOYMINTERVAL(1,'month")) STORE IN (tbs1,tbs2,tbs3)

(

PARTITION pl1 VALUES LESS THAN(TO_DATE('1-1-2005', 'dd-mm-yyyy"),
PARTITION p2 VALUES LESS THAN(TO_DATE('1-1-2007', 'dd-mm-yyyy")))
AS

SELECT *

FROM purchases

WHERE time_id < TO_DATE('1-1-2007','dd-mm-yyyy");

What is the outcome of the above command?

A. It returns an error because the range partitions P1 and P2 should be of the same range.
B. It creates two range partitions (P1, P2). Within each range patrtition, it creates monthwise

subpartitions.
C. It creates two range ;I)artitions of varying range. For data beyond '1-1-2D07," it creates
D

partitions with a width of one month each.
. It returns an error be¢ause the number of tablespaces (TBS1,TBS2,TBS3)specified does not
match the number of|range partitions (P1,P2) specified.

Answer: C

QUESTION NO: 47
View the Exhibit to exanmine the Automatic.Database Diagnostic Monitor (ADDM) tasks.
You executed the followmjng commands:
SQL> VAR tname VARCHAR2(60);

SQL> BEGIN
:tname := 'my_instance |analysis- mode_task’;
DBMS_ADDM.INSERT | SEGMENT -DIRECTIVE(:tname,'Sg_directive','SCOTT);
END;
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Advisor Tasks
( Change Defaull Pararneters )

Search

Select an advisory type and optionally enter a task name to fiter the data that & displayed in your results set.

Advisory Type Task Name Aclvisor Runs Status
ADDM | | Last24 Hours ~[| A ~|(Ga)
By adatault, the search returre all uppercase matehes beginning with the string you' entered. To run an exact or case-sersitive mateh, double quaote the
gearch siring. You can use the wildeard symbaol (%) in a2 double quoted string.
Results
View Resull )| Delete jp«:mnsl Re-scheduls j.'-fﬁu )
Expires|
Advisory Duration In |
Select Type |Name fDe.-st:rlp!bon |User | Status 3131'1 Time & {seconds)| (days)|
7 apDM ADDM:1158544256 1 B0 ADDM auto run: | 8YS COMPLETED Aug 19, 2007 1 0
snapshots [49, B0], 11:00:22 AM
instance 1,
database id
1158544256
& apDMm my_instanke analysis mode task 8YS COMPLETED Aug 19, 2007 4 30
10:01:23 AM
" aDDM ADDM: 1 1$8544255 1 47 ADDM auto run: | 8YS COMPLETED Aug 19, 2007 7 30
snapshots [46, 47], 5:01:06 AM
instance 1,
database id
1168544206
£ apDM ADDM: 1198544205 1 45 ADDM auto run: |SYS COMPLETED Aug 19, 2007 0 0
snapshots [45, 48], 5:00:56 AM
inetmnea 1
Which statement descripes the consequence?
A. The ADDM task is filtered to suppress the Segment Advisor suggestior]s for the SCOTT
schema.
B. The ADDM task is filtered to produce the Segment Advisor suggestiong for the SCOTT
schema only.

C. The PL/SQL block produces an error because the my_instance_analysis_mode_task task has
not been reset to its initial state.

D. All subsequent ADDM tasks including my_instance_analysis_mode_task are filtered to
suppress the Segment Advisor suggestions for the SCOTT schema.

Answer: C

QUESTION NO: 48

Examine the following PL/SQL block:

DECLARE

my_plans pls_integer;

BEGIN

my_plans := DBMS_SPM.LOAD_PLANS FROM_CURSOR_CACHE (sqgl_id => ?9twu5t2dn5xd?;
END;

Which statement is true about the plan being loaded into the SQL plan baseline by the above
command?

A. It is loaded with the FIXED status.
B. It is loaded with the ACCEPTED status.
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C. It is not loaded with the ENABLED status.
D. It is not loaded with the ACCEPTED status.

Answer: B

QUESTION NO: 49
View the Exhibit exhibitl to observe the maintenance window property.

ORACLE Enterprise Manager 11g Belup  Preferences  Help  Looot
Database Control Database
Database Instance: orcl = Scheduler Windows > Logged in As SY5

View Window: TUESDAY WINDOW
[ Edit J [ OK )
Name TUESDAY_WINDOW

Rescurce Plan DEFAULT_MAINTENANCE _PLAN
Enabled TRUE

Priority LOW
Description Tuesday windpw for maintenance tasks

Schedule
Repeat By Wegks
Interval (Weeks) 1
Days of Week Tuesday
Repeat Time Hour:1§ Minute:00 Second:00 PM
Duration {min) 0 hour{s) 20 minuie(s)
Avaibble to Start
Not Availble After

View the Exhibit exhibit2 to examine the output of the query

2QL> SELECT client name,

2 mean job _duration,

3 resource percentage

4 FROM DEA AUTOTASKE CLIENT;

CLIENT MAME MEAN JOE_ DURATION REJOURCE FERCENTAGE
auto optimizer stats collection +000000000 DO:18:41.000000000 Z5
auto space advisor +000000000 O0:0Z:36.6EG00E6ERA 23
2]l tuning advisor +000000000 00:04:3&,.500000000 Z3

Which two statements describe the conclusions? (Choose two.)

A. The window duration should be increased.

B. RESOURCE_PERCENTAGE should be increased.
C. RESOURCE_PERCENTAGE should be decreased.
D. The repeat time for the window should be decreased.

Answer: A, B
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QUESTION NO: 50

Evaluate the following statements:

CREATE TABLE purchase_orders

(po_id NUMBER(4),

po_date TIMESTAMP,

supplier_id NUMBER(6),

po_total NUMBER(8,2),

CONSTRAINT order_pk PRIMARY KEY (po_id))
PARTITION BY RANGE(po_date)

(PARTITION Q1 VALUES LESS THAN (TO_DATE(?1-apr-2007?d-mon-yyyy?),
PARTITION Q2 VALUES LESS THAN (TO_DATE(?1-jul-2007?d-mon-yyyy?),
PARTITION Q3 VALUES LESS THAN (TO_DATE(?1-oct -2007?d-mon-yyyy?),
PARTITION Q4 VALUES LESS THAN (TO_DATE(?1-jan-2008?d-mon-yyyy?));
CREATE TABLE purchase_order_items

(po_id NUMBER(4) NOT NULL,

product_id NUMBER(6) NOT NULL,

unit_price NUMBER(8,2),

guantity NUMBER(8),

CONSTRAINT po_itemg—fk

FOREIGN KEY (po_id) REFERENCES purchase_orders(po_id))
PARTITION BY REFERENCE(po_items_fk);

What are the two consefjuences of the above statements? (Choose two.)

A. Partitions of PURCHASE_ORDER_ITEMS have system-generated naines.

B. Both PURCHASE_ORDERS and PURCHASE_ORDER ITEMS tables|are created with four

partitions each.

partitions of the PURCHASE_ORDERS table.

C. Partitions of the PURCHASE_ORDER_ITEMS table exist in the same {ablespaces as the
D

. The PURCHASE_ORDER_ITEMS table inherits the partitioning key frgm the parent table by

automatically duplicating the key columns.

E. Partition maintenancg operations performed on the PURCHASE_ORDER_ITEMS table are

automatically reflected in the PURCHASE_ORDERS table.

Answer: B, C

QUESTION NO: 51
Which statements are true regarding SecureFile LOBs? (Choose all that apply.)

A. The amount of undo retained is user controlled.
B. SecureFile LOBs can be used only for nonpartitioned tables.
C. Fragmentation is minimized by using variable-sized chunks dynamically.

D. SecureFile encryption allows for random reads and writes of the encrypted data.

E. It automatically detects duplicate LOB data and conserves space by storing only one copy.

Answer: C, D

QUESTION NO: 52
View the Exhibit for some of the current parameter settings.
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MHANE TYFE VALUUE
db_file ritiblock read count integer 107
ddl lock timeout integer alll
distnibted lock timemit integer alll
dl locks integer 748
lock =ga boolean FALEE
enable dd logging boolean FALEE
resunable Hrneout integer 0

A user logs in to the HR schema and issues the following commands:
SQL> CREATE TABLE emp

(empno NUMBER(3),

ename VARCHAR2(20),

sal NUMBER(8,2));

SQL> INSERT INTO emp(empno,ename) VALUES(1,'JAMES");

At this moment, a second user also logs in to the HR schema and issues the following command:

SQL> ALTER TABLE emp MODIFY sal NUMBER(10,2);
What happens in the abpve scenario?

A. A deadlock is created.
B. The second user's cdmmand executes successfully.
C. The second user's sgssion immediately produces the resource busy erfor.

D. The second user's sgssion waits for a time period before producing the resource busy error.

Answer: D

QUESTION NO: 53

You upgraded Oracle Database 10g to Oracle Database 11g. How would [this affect the existing

users' passwords?

A. All passwords automatically-become case-sensitive.
B. All passwords remair] non-case-sensitive till they are changed.
C. All passwords remair] non-case-sensitive and cannot be changed.

D. All passwords remair] non-case-sensitive until their password attribute jn the profile is altered.

Answer: B

QUESTION NO: 54
What recommendations does the SQL Access Advisor provide for optimizing SQL queries?
(Choose all that apply.)

A. selection of SQL plan baselines

B. partitioning of tables and indexes

C. creation of index-organized tables

D. creation of bitmap, function-based, and B-tree indexes

E. optimization of materialized views for maximum query usage and fast refresh

Answer: B, D, E

QUESTION NO: 55

Your system has been upgraded from Oracle Database 10g to Oracle Database 11g. You
imported SQL Tuning Sets (STS) from the previous version. After changing the
OPTIMIZER_FEATURE_ENABLE parameter to 10.2.0.4 and running the SQL Performance

Page 19 of 62

[Get Certified @ TEST-KINGS.COM



http://www.test-kings.com
http://www.test-kings.com

Exam Name: Oracle Database 11g: New Features for Administrators

Exam Type Oracle

Exam Code: 170-050 Total Questions: 183

Analyzer, you observed performance regression for a few SQL statements. What would you do
with these SQL statements?

A.
B.

Set OPTIMIZER_USE_PLAN_BASELINES to FALSE to prevent the use of regressed plans.
Capture the plans from the previous version using STS and then load them into the stored
outline.

Capture the plans from the previous version using STS and then load them into SQL
Management Base (SMB).

Set OPTIMIZER_CAPTURE_SQL_PLAN_BASELINES to FALSE to prevent the plans from
being loaded to the SQL plan baseline.

C.

D.

Answer: C

QUESTION NO: 56

You are managing Oracle Database 11g with an ASM storage with high redundancy. The
following command was issued to drop the disks from the dga disk group after five hours:
ALTER DISKGROUP dga OFFLINE DISKS IN FAILGROUP f2 DROP AFTER 5H;

Which statement is true in this scenario?

A. It starts the ASM fast|mirror resync.

B. It drops all disk paths
C. All the disks in the dd
attribute would be se
D. All the disks in the dd
DISK_REPAIR_TIMH

from the dga disk group.

a disk group would be OFFLINE and the DISK_R
to 5 hours.

a disk group in failure group 2 would.be OFFLIN
disk attribute would be set to 5 hours.

FPAIR_TIME disk

F and the

Answer: D

QUESTION NO: 57
View the Exhibit to obsgrve the error.

anager Mg Qetup  Preferences  Help |

OoORACLE
D Database |

nterprise

Uatanase L.ontrol

Database Instance: orcl =

(X] Database Error
ORA-04031: unabke to allcate 3935 bytes of shared memory ("shared pool’,"SELECT aadvisor_name, afas...","sga
heap(1,0)’,"kgksim object batch')

Logged in As SYS

You receive this error regularly and have to shut down the database instance to overcome the
error.
What can the solution be to reduce the chance of this error in future, when implemented?

A. locking the SGA in memory

B. automatic memory management

C. increasing the value of SGA_MAX_SIZE

D. setting the PRE_PAGE_SGA parameter to TRUE

Answer: B
QUESTION NO: 58
Which three statements are true regarding the functioning of the Autotask Background Process

(ABP)? (Choose three.)

A. It translates tasks into jobs for execution by the scheduler.
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B. It creates jobs without considering the priorities associated with them.

C. It determines the list of jobs that must be created for each maintenance window.

D. It is spawned by the MMON background process at the start of the maintenance window.

E. It maintains a repository in the SYSTEM tablespace to store the history of the execution of all
tasks.

Answer: A, C,D

QUESTION NO: 59

You executed the following commands in an RMAN session for your database instance that has
failures:

RMAN> LIST FAILURE;

After some time, you executed the following command in the same session:

RMAN> ADVISE FAILURE;

But there are new failures recorded in the Automatic Diagnostic Repository (ADR) after the
execution of the last LIST FAILURE command. Which statement is true for the above ADVISE
FAILURE command in this scenario?

A lt produces a Warninh faor new failures hefore. ::ml\licing for CRITICAL o HIGH failures.

B. It ignores new failure$ and considers the failures listed in the last LIST FAILURE command
only.

C. It produces an error with recommendation to run the LIST FAILURE command before the

D

ADVISE FAILURE cgmmand.
. It produces advice orjly for new failures and the failures listed in the lagt LIST FAILURE
command are ignoregl.

Answer: A

QUESTION NO: 60
View the Exhibit to exanine the output for.the VSDIAG_INFO view.
SELECT * FROM VSDIAG INFO;

INST_IL NAME VALUE
1l Diag Enabled TRUE
1 ADE Ease in0l forgcle
1 ADE Home /ull/oracle/diag/rdbms forclbi/orclbd
1 Diag Trace full/oracle/diag/rdbms forclbi/orclbi ftrace
1 Diag Alert full/oracle/diag/rdbms forclbi/orclbi/alert
1l Diag Incident full/oracle/diag/rdbms forclbi/orclbi/incident
1 Diag Cdump full/oracle/diag/rdbms /crclbi/crelbi fodung
1 Health Monitoer full/oracle/diag/rdbms /orclbi/crclbi /hm
1 Default Trace File full/oracle/diag/rdbms forclbi/orclbi/trace/orcl_ora 22769, trec

1 Active Proklem Count 8
Which statements are true regarding the location of diagnostic traces? (Choose all that apply.)

A. The path to the location of the background as well as the foreground process trace files is
/uO1/oracle/diag/rdbms/orclbi/orclbi/trace.

B. The location of the text alert log file is /u01/oracle/diag/rdbms/orclbi/orclbi/alert.

C. The location of the trace file for the current session is
/uO0l/oracle/diag/rdbms/orclbi/orclbi/trace.

D. The location of the XML-formatted version of the alert log is
/uOl/oracle/diag/rdbms/orclbi/orclbi/alert.

Answer: A, C, D
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QUESTION NO: 61

Evaluate the following command:

SQL>ALTER SYSTEM SET db_securefile = IGNORE;

What is the impact of this setting on the usage of SecureFiles?

A. It forces BasicFiles to be created even if the SECUREFILE option is specified to create the
LOB.

B. It forces SecureFiles to be created even if the BASICFILE option is specified to create the
LOB.

C. It does not allow the creation of SecureFiles and generates an error if the SECUREFILE option
is specified to create the LOB.

D. It ignores the SECUREFILE option only if a Manual Segment Space Management tablespace
is used and creates a BasicFile.

Answer: A

QUESTION NO: 62
You are managing an Ofac Lp dg01 having three
disks. One of the disks in the d power failure.

You issued the following command to change the DISK_REPAIR_TIME ajtribute from 3.6 hours
to 5 hours:
ALTER DISKGROUP dg01 SET ATTRIBUTE 'disk_repair_time'= '5h';
To which disks in the digk group will the new value be applicable?

A. all disks in the disk gfoup

B. all disks that are currently in OFFLINE mode

C. all disks that are not ¢urrently in OFFLINE mode

D. all disks in the disk gfoup only if all of them are ONLINE

Answer: C

QUESTION NO: 63
You issued the following RMAN command to back up the database:
RMAN> RUN{
ALLOCATE CHANNEL &1
DEVICE TYPE sbt

BACKUP DATABASE

TAG quarterly

KEEP FOREVER
RESTORE POINT FY06Q4;}
Which two statements are true regarding the backup performed? (Choose two.)

)

A. Archived redo log files are backed up along with data files.

B. Only data files are backed up and a restore point named FY06Q4 is created.

C. Archived log files are backed up along with data files, and the archived log files are deleted.

D. The command creates a restore point named FY06Q4 to match the SCN at which this backup
is consistent.

Answer: A, D

QUESTION NO: 64
View the Exhibit to examine a portion of the output from the VALIDATE DATABASE command.
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File Status Marked Corrupt Empty Blocks Blocks Examined High SCN
5 OR 1] Ll 1z800 571420
File Name: /ull/app/oracle/oradata/orcl/examplell.dbf
Block Type Blocks Failing Blocks Processed
Data 0 = )
Index u] 1271
Other ] 5363
File Status Marked Corrupt Empty Blocks Blocks Examined High SCN
[ FATLED O cZ4 &40 E03ZZ20
File Name: /ull/app/oracleforadata/orcl/mytbsl.dbf
Elock Type Blocks Failing Blocks Processed
Data u] 4
Index 0 o
Other s 12
File #tatus Marked Corrupt Empty Blocks EBlocks Examined High 3CN
7 OFK ] 621 640 604259
File Name: /ull/app ! et e e ek

BElock Type Blocks Fo

Data ]
Index u]
Other u]

validate found one or
dee trace file full/ag
zhannel CRA DIZE 1: =4
hannel ORA DISEK 1: si
including current cony
including current SEF]
zhannel CRA DIZE 1:

vy

more corrupt blocks
p/oracle/diag/rdbms/orel/orcl/trace/orcl ora 4
arting wvalidation of datafile

ecifying datafile(s)
rol file for walidation

for walidation

LE in backup set

lidation complete, elapsed time: 00:00:01

2981.tre for details

Which statement is true

A. No action is taken ex

about the block: corruption detected by the comm

Cept the output in the Exhibit.

B. The corruption is repaired by the.command implicitly.

C. The failure is logged
D. The ADVISE FAILUR

nto the Automatic Diagnostic Repository (ADR).
E command is automatically called to display the

hnd?

repair script.

Answer: C

QUESTION NO: 65

Which two kinds of failures make the Data Recovery Advisor (DRA) generate a manual checklist?

(Choose two.)

A. failures because a data file is renamed by error

B. failures when no stan
C. failures that require n

dby database is configured
o archive logs to be applied for recovery

D. failures due to loss of connectivity-for example, an unplugged disk cable

Answer: A, D

QUESTION NO: 66

Which two statements are true regarding the starting of the database instance using the following
command? (Choose two.)
SQL>STARTUP UPGRADE
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A. It enables all system triggers.

B. It allows only SYSDBA connections.

C. It ensures that all job queues remain active during the upgrade process.

D. It sets system initialization parameters to specific values that are required to enable database
upgrade scripts to be run.

Answer: B, D

QUESTION NO: 67
Which statements are true regarding system-partitioned tables? (Choose all that apply.)

A. Only a single partitioning key column can be specified.

B. All DML statements must use partition-extended syntax.

C. The same physical attributes must be specified for each partition.

D. Unique local indexes cannot be created on a system-partitioned table.

E. Traditional partition pruning and partitionwise joins are not supported on these tables.

Answer: D, E

QUESTION NO: 68
The OPTIMIZER_USE_|PLAN_BASELINES parameter is set to TRUE. The optimizer generates a
plan for a SQL statement but does not find a matching plan in the SQL plgn baseline. Which two

operations are performed by the optimizer in this scenario? (Choose two.

A. The optimizer adds the new plan to the plan history.

B. The optimizer selectq the new plan for the execution of the SQL statenjent.

C. The optimizer adds t:l:e new plan to the SQL plan baseline as an accedted plan.

D. The optimizer adds the new plan to the SQL plan baseline but not in the ENABLED state.

E. The optimizer costs gach of the accepted plans in the SQL plan baseline and picks the one
with the lowest cost.

Answer: A, E

QUESTION NO: 69
Which two statements apout Oracle Direct Network File System (NFS) ar¢ true? (Choose two.)

A. It bypasses the OS file system cache.

B. A separate NFS interface is required for use across Linux, UNIX, and Windows platforms.

C. It uses the operating system kernel NFS layer for user tasks and network communication

modules.

D. File systems need not be mounted by the kernel NFS system when being served through
Direct NFS.

E. Oracle Disk Manager can manage NFS on its own, without using the operating system kernel

NFS driver.

Answer: A, E

QUESTION NO: 70

You are managing an Oracle Database 11g instance with ASM storage. You lost an ASM disk
group DATA. You have RMAN backup of data as well as ASM metadata backup.

You want to re-create the missing disk group by using the ASMCMD md_restore command.
Which of these methods would you use to achieve this? (Choose all that apply.)

A. Restore metadata in an existing disk group by passing the existing disk group name as an
input parameter.
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B. Restore the disk group with changed disk group specification, failure group specification, disk
group name, and other disk attributes.

C. Restore the disk group with the exact configuration as the backed-up disk group, using the
same disk group name, same set of disks, and failure group configurations.

D. Restore the disk group with the exact configuration as the backed-up disk group, using the
same disk group name, same set of disks, failure group configurations, and data on the disk

group.
Answer: A, B, C

QUESTION NO: 71

Evaluate the following command and its output:

SQL>SELECT * FROM

dba_temp_free_space;

TABLESPACE_NAME TABLESPACE_SIZE ALLOCATED_SPACE FREE_SPACE

LMTEMP 250609664 101048576 149561088

Which two statements ¢

orrectly interpret the output? (Choose two.)

A. FREE_SPACE indicaltes only the space that is currently unallocated.

B. ALLOCATED_SPAC
C. FREE_SPACE indicg
D. ALLOCATED_SPAC

that is available for reg
E. FREE_SPACE indicq

E indicates only the space currently allocated and
tes only the space that is currently allocated and

E indicates both the space currently allocated and
use.

tes both the space that is currently allocated and

in use.
available for reuse.
used, and the space

Available for reuse, and

the space that is currently unallocated.

Answer: D, E

QUESTION NO: 72

In your database, the R
initialization parameter f
You issued the following
SQL>SELECT /*+ RES
FROM sales

GROUP BY sale_category

Where would the result of this query be stored?

FSULT_CACHE_MODE parameter has been set {o MANUAL in the
le.
command:

ULT CACHE */ sale_category, sum(sale_amt)

A. PGA

B. large pool

C. shared pool

D. database buffer cache

Answer: C

QUESTION NO: 73

You are working on a CATDB database that contains an Oracle Database version 11.1 catalog
schema owned by the user RCO11. The INST1 database contains an Oracle Database version
10.1 catalog schema owned by the user RCAT10.

You want the RMAN to import metadata for database IDs 1423241 and 1423242, registered in

RCAT10, into the recovery catalog owned by RCO11.

You executed the following RMAN commands:

RMAN> CONNECT CATALOG rcoll/password@catdb

RMAN> IMPORT CATALOG rcatlO/oracle@instl;

What happens when you execute the above commands? (Choose all that apply.)

Page 25 of 62

[Get Certified @ TEST-KINGS.COM



http://www.test-kings.com
http://www.test-kings.com

Exam Name: Oracle Database 11g: New Features for Administrators

Exam Type Oracle

Exam Code: 170-050 Total Questions: 183

A. They deregister all databases registered in the RCAT10 catalog.

B. They import metadata for all registered databases in the RCAT10 database.

C. They register all the RCAT10-catalog registered databases in the RCO11 catalog.

D. They overwrite all stored scripts in the RCO11 catalog with the same name as that in the
RCAT10 catalog.

Answer: A, B, C

QUESTION NO: 74
Which three are the valid statements in relation to SQL plan baselines? (Choose three.)

. The plans can be manually loaded to the SQL plan baseline.

. The plans in the SQL plan baseline are verified and accepted plans.

. The plans generated for every SQL statement are stored in the SQL plan baseline by default.

. The plan baselines are stored temporarily in the memory as long as the database instance is
running.

. For the SQL plan baselines to be accessible to the optimizer, the SYSAUX tablespace must be
online.

o0 w>»

m

Answer: A, B, E

QUESTION NO: 75
You run the SQL Tuning Advisor (STA) to tune a SQL statement that is pgrt of a fixed SQL plan
baseline. The STA gendrates a SQL profile for the SQL statement, which fecommends that you
accept the profile. Whiclh statement is true when you accept the suggestefl SQL profile?

A. The tuned plan is notladded to the SQL planbaseline.

B. The tuned plan is added to the fixed SQL plan baseline as a fixed plan.
C. The tuned plan is addled to the fixed SQL plan baseline as a nonfixed glan.

D. The tuned plan is addled to a new nonfixed SQL plan baseline as a nonfixed plan.

Answer: C
QUESTION NO: 76

Which three statementsleerrectiy-describe-thefeatures-of-the- HO-calibration process? (Choose
three.)

. Only one /O calibration process can run at a time.

. It automates the resource allocation for the Automated Maintenance Tasks.

. Itimproves the performance of the performance-critical sessions while running.

. It can be used to estimate the maximum number of I1/Os and maximum latency time for the
system.

. The latency time is computed only when the TIMED_STATISTICS initialization parameter is
set to TRUE.

o0Ow>

m

Answer: A,D, E

QUESTION NO: 77
Which two statements about the SQL Management Base (SMB) are true? (Choose two.)

A. It contains only SQL profiles generated by SQL Tuning Advisor.
B. It stores plans generated by the optimizer using a stored outline.
C. Itis part of the data dictionary and stored in the SYSAUX tablespace.
D. It is part of the data dictionary and stored in the SYSTEM tablespace.
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E. It contains the statement log, the plan history, plan baselines, and SQL profiles.
Answer: C, E

QUESTION NO: 78

Sales details are being stored on a daily basis in the SALES_ 2007 table. A large amount of data
is added to the table daily. To save disk space, you issued the following command:

ALTER TABLE sales 2007 COMPRESS FOR ALL OPERATIONS;

What would be the outcome of this command?

A. It produces an error because data already exists in the table.

B. It produces an error because compression can be enabled at table creation only.

C. It compresses all data added or modified henceforth but the existing data in the table is not
compressed immediately.

D. It immediately compresses all existing data as well as new data, resulting from either fresh
additions or modifications to existing data.

Answer: C

QUESTION NO: 79
Which client requests tofthe database can be captured as a part of the wdrkload capture?
(Choose all that apply.)

A. flashback query
B. distributed transactions

C. logging in and logging out of sessions

D. all DDL statements hpving bind variables
E. direct path load of dafa from external files

Answer: C, D

QUESTION NO: 80
Which two statements afe true regarding the SQL Repair Advisor? (Choosge two.)

A. The SQL Repair Advisor can be invoked to tune the performance of the regressed SQL
statements.

B. The SQL Repair Advisor can be invoked even when the incident is not active for a SQL
statement crash.

C. The SQL Repair Advisor is invoked by the Health Monitor when it encounters the problematic
SQL statement.

D. The DBA can invoke the SQL Repair Advisor when he or she receives an alert generated
when a SQL statement crashes and an incident is created in the ADR.

Answer: B, D

QUESTION NO: 81
Which setting enables the baselines by default in Oracle Database 119?

A. setting the STATISTICS_LEVEL parameter to TYPICAL

B. adding filters to the Automatic Database Diagnostic Monitor (ADDM)

C. enabling Automated Maintenance Task using Oracle Enterprise Manager
D. setting the OPTIMIZER_USE_PENDING_STATISTICS parameter to TRUE

Answer: A
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QUESTION NO: 82
Which two activities are NOT supported by the Data Recovery Advisor? (Choose two.)

A. Diagnose and repair a data file corruption offline.

B. Diagnose and repair a data file corruption online.

C. Diagnose and repair failures on a standby database.

D. Recover from failures in the Real Application Cluster (RAC) environment.

Answer: C, D

QUESTION NO: 83
In which cases is reference partitioning effective in enhancing performance?

A. It is effective only in partition pruning.

B. It is effective only in partitionwise joins provided that the query predicates are different from the
partitioning key.

C. It is effective in both partition pruning as well as partitionwise joins provided that the query
predicates are identical to the partitioning key.

D. It is effective in both pattition pH |ning aswellas p:rfifinn\nlicn jninc wre pective of whether the
query predicates are [different from or identical to the partitioning key.

Answer: D

QUESTION NO: 84
Your database initializajon parameter file has the following entry:
SEC_MAX_FAILED_LJGIN_ATTEMPTS=3

Which statement is true [regarding this setting?

A. It is enforced only if the password profile is ‘enabled for the user.

B. It locks the user account after the specified number of attempts.

C. It drops the connectign after the specified number of login attempts fail|for any user.

D. It drops the connectign after the specified number of login attempts fail{only for users who
have the SYSDBA prjvilege.

Answer: C

QUESTION NO: 85
Which statement is true for enabling Enterprise Manager Support Workbench in Oracle Database
119 to upload the physical files generated by Incident Packaging Service (IPS) to MetaLink?

A. The database must be running in ARCHIVELOG mode.

B. No special setup is required, and the feature is enabled by default.

C. The path for the Automatic Diagnostic Repository (ADR) must be configured with the

DIAGNOSTIC_DEST initialization parameter.

D. The Enterprise Manager Support Workbench can be enabled only if the background process
manageability monitor (MMON) is configured.

E. Select the Enable option in the Oracle Configuration Manager Registration window during the

installation of the Oracle Database 11g software, provide valid MetaLink credentials and select

license agreement.

Answer: E
QUESTION NO: 86

Which two statements are true regarding Health Monitor checks in Oracle Database 11g?
(Choose two.)
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. Health Monitor checks are always initiated manually when there is some critical error.
. Health Monitor checks can be used to scan the contents of the redo log and archive logs for
accessibility and corruption.
C. Health Monitor checks can be used to verify the contents of dictionary entries for each
dictionary object and fix it automatically.
D. Health Monitor checks can be used to verify the integrity of database files and report failures if
these files are inaccessible, corrupt or inconsistent.

w >

Answer: B, D

QUESTION NO: 87
View the Exhibit for the object interdependency diagram.

Objects Interdependency Diagram

Takle View Procedurs Functicon
PRODUCTS PRODCAT VU LET DATAT) CHECE DATAL ()
PROD_ID PROD NAME
PROD NAME = PROD CAT - g
PROD DESC PROD _RATE
PROD CAT
PROD_RATE

The PRODUCTS table is used to create the PRODCAT_VW view.
PRODCAT_VW is used|in the GET_DATA procedure.
GET_DATA is called in fhe CHECK_DATA function.

A new column PROD_QTY is added to'the PRODUCTS table.
How does this impact the status of the dependent objects?

A. All dependent objectg remain valid.

B. Only the procedure apd functlon become invalid and must be recompiled.

C. Only the view becomes ated-the ext time it is used.

D. Only the procedure and functlon become mvalld and get automatlcally revalidated the next
time they are called.

Answer: A

QUESTION NO: 88
View the Exhibit to examine the parameters set for your database instance.
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HAME TYPE VATLUE
filesystemio options string APYNCH
backup tape 1o slaves boolean FALSE
dbwr io slaves integer 0

disk asynch io hoolean TRUE
tape_asynch io boolean TRUE
optimizer use pending statistics hoolean FATLIE
statistics level string TYPICAL
timed os statistics integer 0

timed statistics boolean FALSE
ag_ _tm processes integer ]

db writer processes integer 1

§oS SErver processes integer 0
global txn processes integer 1

jobh fueue processes integer 1000
log archive maxjprocssses integex 4
processes integer 150

You execute the followin
variables in the session
SQL> EXECUTE dbms |
max_latency=>50, -

max_iops=>:max_iops, |

max_mbps=>:max_mbp

g command to perform 1/O calibration after the dg
that are used in the command:
| resource_manager.calibrate_io( num_physical_d

S, -

actual_latency=>:actual
Which statement descri

| latency);
es the consequence?

A. The command produges an error.

B. The calibration procepgs runs successfully and populates all the bind va
C. The calibration procepss runs successfully but the latency time is not co
D. The calibration proces runs successfully but only the latency time is ¢

Answer: A

claration of bind

sks=>1, -

riables.
mputed.
bmputed.

QUESTION NO: 89

You plan to control the sessions performing a huge number of I/O operations. Your requirement is
to kill the session when it exceeds a specified number of 1/0s. Which statement describes a

solution to the above?

A. Set a threshold for the default system-defined moving window baseline.
B. Add directives to the Automatic Database Diagnostic Monitor (ADDM).
C. Modify the profile for the targeted users for which control needs to be imposed.
D. Implement the database resource manager to add the SWITCH_IO_REQS and
SWITCH_GROUP directives.

Answer: D

QUESTION NO: 90

You need to perform an online table redefinition of an existing SALES table to patrtition it into two
tablespaces TBS1 and TBS2.
The SALES table has a materialized view, materialized log, indexes, referential integrity
constraint, and triggers with the PRECEDES clause existing on it.
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What action is required for dependent objects when you perform online table redefinition?

A. The materialized log should be dropped before the online table redefinition process.

B. Triggers with the PRECEDES clause should be disabled before the online table redefinition
process.

C. Referential integrity constraints must be manually enabled after the online table redefinition
process.

D. The dependent materialized view should have a complete refresh performed after the online
table redefinition process.

Answer: D

QUESTION NO: 91
Examine the following values of the initialization parameters in the database having the SID
ORCL:

BACKGROUND_DUMP_DEST=/u01/app/oracle/product/11.1.0/db_1/bdump
USER_DUMP_DEST=/u01/app/oracle/product/11.1.0/db_1/udump
CORE_DUMP_DEST=/u01/app/oracle/product/11.1.0/db_1/cdump

DIAGNOSTIC_DEST=
The environment variables have the following value:
ORACLE_BASE=/u01/gpp/oracle
ORACLE_HOME=/u0l/gpp/oracle/product/11.1.0/db_1
What is the location of the Automatic Diagnostic Repository (ADR) home?

A. /uOl/appl/oracle
B. $ORACLE_HOME/log
C. $ORACLE_HOME/bdump

D. /u01/appl/oracle/prodpict/11.1.0/db_1

Answer: A
QUESTION NO: 92

Which tasks are run autpmatically as part of the Automated Maintenance [Task by default?
(Choose all that apply.)

A. Segment Advisor

B. SQL Access Advisor
C. Optimizer statistics gathering

D. Automatic SQL Tuning Advisor

E. Automatic Database Diagnostics Monitor

Answer: A, C, D

QUESTION NO: 93

View the Exhibit to examine the output produced by the following query at three different times
since the database instance started and has undergone workloads of different capacities:
SQL> SELECT substr(component, 0, 10) COMP, current_size CS,

user_specified_size US

FROM v$memory_dynamic_components

WHERE current_size!=0;
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First executlion:

shared poo
large pool
Java pool

AzA Target
DEFAULT bu
Shared IO

PzaA Target

b rows selected.

Second execution:

SBTEO0ESe
4124304
4154304
176160768
100663256

83588608
117440512

shared poo
large pool
Java pool

AzA Target
DEFAULT hu
Shared IO

PzaA Target

o rows selected.

Third execution:

shared poo

SB87Z0E]
412430
415430
192233755
11744051

838860
10066325

[ R e Y T Y R o 3

s

62314540

large pool
Jjava pool
AzA Target
DEFAULT bu
Shared IO
Pza Target

b rows selected.

100663256
4154304
122337584
83588608
83588608
100663256

838860

838860

838860

What do you infer from this?

A. The database instance is running with manual PGA management.
B. The database instance is running with manual shared memory management.

C. The database instance has the MEMORY_TARGET value set to a nonzero value.

D. All sessions are connected to the database instance in dedicated mode, and no RMAN or

parallel query operations have been performed.
Answer: C

QUESTION NO: 94
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Your company wants to upgrade the current production database to the RAC environment. To
perform testing before migrating to the RAC environment, you performed the workload capture on
the production database to record the peak workload. You set up the test RAC database and
want to replay the recorded workload on the test machine. Note the following steps that you may
require to replay the database workload:

1) Preprocess the captured workload.

2) Restart the database in RESTRICTED mode.

3) Set up the Replay Clients.

4) Restore the test database to the point when the capture started.

5) Remap connections.

Arrange the steps required in the correct sequence to accomplish this task on the test machine.

A.2,1,5,3,4
B.1,2,4,5,3
C.1,4,5, 3 (2is not required.)
D. 1, 2, 4,5 (3 is not required.)
E. 1,4, 3,5 (2is notrequired.)

Answer: C

QUESTION NO: 95
Which statements are trie regarding the system-defined moving window baseline in Oracle
Database 11g? (Choosg all that apply.)

A. It does not allow you fo change the moving window size.

B. Adaptive threshold funpctionalities use it by default to.compute statistics
C. It is created by default with the window size being equal to the AWR refention time.

D. It is created when thg first snapshotis collected by the Automatic Worljload Repository (AWR).

Answer: B, C

QUESTION NO: 96
The SQL Tuning Advisor has been configured with default configurations |n your database

instance. Which recomnpendation is automatically implemented without the DBA's intervention
after the SQL Tuning AZIWSOH&-FHFF&S—B&R—M@AUMSK—@F&FR@W’

A. statistics recommendations

B. SQL profile recommendations

C. index-related recommendations

D. restructuring of SQL recommendations

Answer: B

QUESTION NO: 97
Which statements are true regarding the creation of an incident package file by using the EM
Workbench Support? (Choose all that apply.)

A. You can add SQL test cases to the incident package.

B. You can add or remove the trace files to the package.

C. You cannot create an incremental incident package when the physical files are purged from
the ADR.

D. You can create the incremental incident package ZIP file for new or modified diagnostic
information for the incident package already created.
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Answer: A, B, D

QUESTION NO: 98

The following command is executed to create the baseline template:

SQL> EXECUTE
DBMS_WORKLOAD_REPOSITORY.CREATE_BASELINE_TEMPLATE(START_TIME=>
TO_TIMESTAMP(SYSDATE+2),

END_TIME=>TO_TIMESTAMP(SYSDATE+10),

BASELINE_NAME=>'Mybase4',

TEMPLATE_NAME=>'Mytemp4',

EXPIRATION=>NULL);

Which statement is true about the effect of the above command?

A. It creates a baseline template that never expires.

B. It produces an error because no snapshot information is provided to create the baseline.

C. It creates a baseline template that expires after the Automatic Workload Repository (AWR)
retention period.

D. It creates a repeating baseline template that repeats after the Automatic Workload Repository
(AWR) retention perigd

Answer: A

QUESTION NO: 99
View the Exhibit to examine the details for an incident.

Incident Details: 3937

Page Refreshed August 24, 2001 7:46:17 PM GMT407:00 ( Refresh )

Summary k
Proble CORA-T445 Data
roblem Key GRS Yes
[qestda()+515] Dumped
[SIGSEGV] ECID Unknewn
o Correlation
[ADDR:0x0] SID = 12057367, Procid = 4211
[PC:0x9289729] Keys
PO ) W——— PQ = (0, 1187619276), Glient Procid =
al oracle@edtdrépl.us.ompcle.com (TNS
Status;  Peady V1-V3).9007_3086911148
Active  Yes September 9, 2007 2:11:26 PM GMT+07:00 (Purging
Timestamp  August 20, 2007 ol44:39 PM GMTL07:00 Purge Date : :
. Enabled) | pjsable Purging
Source System Generated

Application Information

SaLiD
SOL Text
User
Maodule
Action

|File Name

orcl_ora_S007.trc

| Dump Files |

orc|_ora 9007 _i3937 irc

Bgmyvkh84w3xj

select * from scott.tabjiv

5YS

sqlplus@edtdrépi .us.oracle.com (THNS V1-V3)

Unknown

| Size (MB) Timestamp

271 August 20, 2007 9:15:14 PM GMT+07:00

0 August 20, 2007 9:15:14 PM GMT+07.00

Path View Contents

full/appiorac lefdiag/rdbms/orc orc Vincident/incdir_3937 oo

/udl/appiorackeidiag/rdbms/orclorcitrace oe

o B4

Which statement is true regarding the status of the incident?

A. The DBA is working on the incident and prefers that the incident be kept in the ADR.
B. The incident is now in the Done state and the ADR can select the incident to be purged.
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C. The incident has been newly created and is in the process of collecting diagnostic information.
D. The data collection for the incident is complete and the incident can be packaged and sent to
Oracle Support.

Answer: D

QUESTION NO: 100

You issued the following command:

CREATE GLOBAL TEMPORARY TABLE admin_work_area

(startdate DATE,

enddate DATE,

class CHAR(20))

ON COMMIT DELETE ROWS

TABLESPACE tbs_t1;

An index is then created on the ADMIN_WORK_AREA temporary table.
Which two statements are true regarding the TBS_T1 tablespace in the above
command?(Choose two.)

A. It stores only the temFaaLy-lamAbsumL&ndéces—' i
B. It stores both the temporary table as well as its indexes.

C. It must be a nondefalilt temporary tablespace for the database.

D. It can be a default or [nondefault temporary tablespace for the databasq.
E. It must be the default{temporary tablespace of the user who.issues thecommand.

Answer: B, D

QUESTION NO: 101
Identify the activities pefformed as part of ther Automatic SQL Tuning process in the maintenance
window? (Choose all that apply.)

A. generating the SQL grofile

B. testing and accepting the SQL- profile

C. generating a list of cgndidate SQLs for tuning

D. adding tuned SQL plans into the SQL plan baseline
E. tuning each SQL statement in the order of importance
F. generating baselines i :

Answer: A, B, C, E

QUESTION NO: 102
View the Exhibit to examine the replay settings for replay parameters.
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ORACLE Enterprise Manager 11g Setu s Help Lodout
Datahase Control
) T4l ¥
Customize Options  Prepare Replay Clisnts Wit for Client Conmections  Rewiew
Set Up Workload Replay: Customize Options
Database orcl Cancel ) (Back| Step2of5 [Next
Capture Mame _\‘\b
Conneckions Replay Parameters |
Some replay parameters can be modified to change the behavior of the replay,
Name |¥alue
synchranization iP_TRUE _I
connect_time_scale |100 _.
think_time_scale /100 1
think_time_auto_correct ITRIUE 1]
4] 3

What is the implication for setting the values for replay parameters? (Choose all that apply.)

A. The COMMIT order in the captured workload is preserved during replay.

B. The value 100 in the THINK_TIME_SCALE parameter attempts to make the replay client
shorten the think timg between calls.

C. The value 100 in the CONNECT_TIME_SCALE parameter attempts to|connect all sessions as

D

captured.

. The value 100 in the [THINK_TIME_SCALE parameter attempts to matth the captured user
think time while replalying.

E. The value 100 in the CONNECT_TIME_SCALE parameter attempts to|connect all sessions
immediately as soon fas the replay begins.

Answer: A, C,D

QUESTION NO: 103
Which two prerequisites|are needed for-performing workload capture and freplay? (Choose two.)

A. setting up the directofy to capture the workload

B. running the database|in shared server mode

C. Close all sessions pgrforming queries using database links.

D. The database on whigh the workload is replayed has to be a restore of|the original database to
a specific SCN.

Answer: A, D

QUESTION NO: 104

You are managing an Oracle 11g database with ASM storage, for which the COMPATIBLE
initialization parameter is set to 11.1.0. In the ASM instance, the COMPATIBLE.RDBMS attribute
for the disk group is set to 10.2 and the COMPATIBLE.ASM attribute is set to 11.1.

Which two statements are true in this scenario for the features enabled for ASM? (Choose two.)

A. The ASM-preferred mirror read feature is enabled.

B. The ASM supports variable sizes for extents of 1, 8, and 64 allocation units.

C. The ASM disk is dropped immediately from a disk group when it becomes unavailable.
D. The RDBMS always reads the primary copy of a mirrored extent of the ASM disk group.

Answer: A, B

QUESTION NO: 105
You set the following parameters in the parameter file and restarted the database:
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MEMORY_MAX_TARG

ET=0

MEMORY_TARGET=500M
PGA_AGGREGATE_TARGET=90M

SGA_TARGET=270M

Which two statements are true regarding these parameters after the database instance is

restarted? (Choose two.

)

A. The MEMORY_MAX_TARGET parameter is automatically set to 500 MB.
B. The value of the MEMORY_MAX_TARGET parameter remains zero till it is changed manually.
C. The PGA_AGGREGATE_TARGET and SGA_TARGET parameters are automatically set to

Zero.

D. The lower bounds of PGA_ AGGREGATE_TARGET and SGA_TARGET parameters are set to
90 MB and 270 MB, respectively.

Answer: A, D

QUESTION NO: 106

Evaluate the following SQL statement used to create the PRODUCTS table:
CREATE TABLE produgts

(product_id NUMBER(3
product_desc VARCHA
gty NUMBER(8,2),

rate NUMBER(10,2),
total_value AS (qty * ra
PARTITION BY RANGE
(PARTITION pl1 VALUE
PARTITION p2 VALUES
PARTITION p3 VALUES
COMPRESS FOR ALL
Which statement is true

A. It executes successfy

B. It produces an error &

C. It produces an error &
key.

PRIMARY KEY,
R2(25),

e))

(total_value)

S LESS THAN (100000),

b LESS THAN (150000),

b LESS THAN (MAXVALUE))
DPERATIONS;

regarding this.command?

lly butpartition pruning cannot happen for this pa
ecause the TOTAL_VALUE column cannot be us
ecause compression cannot be used for the TOT

tition key.
ed as a partition key.
AL_VALUE partition

D. It executes successfu
stored in the partition

Answer: D

QUESTION NO: 107

iy but-the-valdes-ir-the FOTFALMALUE column-yv

S.

vould not be physically

View the Exhibit to examine the error while executing the REPAIR FAILURE command in an

RMAN session.
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EMAN> REPATER FATLURE

Btrategy:

’

The repair includes complete media recovery with no data loss

Repair script: /ull/app/oracle/diag/rdbms/orcl/orel/hm/reco 10746495596, hm

contents of repair script:

# restore and res

restore datafile 4,
recover datafile 4,

over datafile
3;
3;

Do you really want to execute the above repair (enter YEZ or NO)? v
executing repair script

Starting restore at 17-AUE-07

using channel ORA DI

skipping datafile 4;
01.dbt

channel ORA DIBK 1:
channel ORA DIBK 1:
channel ORA DIZE 1:
mpleOl.dbf

8K 1
already restored to file full/appforacle/

starting datafile backup set restore
specifying datafile(s)

oradata/orcl/users

to restore from backup set

restoring datafile 00003 to full/app/oracle/oradata/orsl/exa

channel ORA DISE 1:
a/ORCL/backupset/200

Feading from backup piece full/appforacle
P 08_16/0l wf nnndf TAGZODT08L16T130434 3d7

tlash recovery are
tinby_ .hkp

PMAN-00571:

RMAN-00562:

ERROF MEZZAGE BTACE FOLLOWS

PMAN-00571:

BEMAN-03002: failure
PMAEN-03Z015: error o
ORA&-19870: error whi
a/ORCL/backupset/200

ORA-19573: <cannot ob

bf repair command at 08/17/2007 08:53:46
Furred in stored script Repailr Script

= restoring backup piece /ull/app/oracle
P 08 16/0l mf nnndf TAGZOOT0S16T130434 3d7
Fain exclusive enqgueus for datafile 5

What is the reason for this error?

A. Another repair sessio
B. The failure ID has no
C. There are new failure
D. The ADVISE FAILUR
command.

n is running concurrently.

been-mentioned in the command for data file 5.
s recorded inthe Automatic Diagnostic Repositor
E command has not been issued before the REP

flash recovery_are
tinby .bkp

U (ADR).
AIR FAILURE

Answer: A

QUESTION NO: 108

The Oracle Database 11g database is running in the ARCHIVELOG mode.
The archived redo log files are stored on three locations. The Flash Recovery Area is one of the

locations.

The details are given below:

LOG_ARCHIVE_DEST _
LOG_ARCHIVE_DEST_
DB_RECOVERY_FILE_

1 ="'LOCATION = /disk1/archive'
2 = 'SERVICE = stdb1'
DEST = 'fu0l1/oradata’

Examine the following RMAN command issued to set the deletion policy for archived log files:
RMAN> CONFIGURE ARCHIVELOG DELETION POLICY
TO BACKED UP 2 TIMES TO sbt;

Which statement is true

regarding what this command accomplishes?

A. All archived redo log files backed up at least twice to tape are deleted.
B. All archived redo log files backed up at least once to tape are eligible for deletion.
C. All archived redo log files backed up at least twice to tape are deleted from the flash recovery

area.
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D. All archived redo log files in local archiving destinations and the flash recovery area backed up
at least twice to tape are eligible for deletion.

Answer: D

QUESTION NO: 109

Evaluate the following command:

SQL> CREATE TABLE design_data (id NUMBER,

doc CLOB)

LOB(doc) STORE AS SECUREFILE(DEDUPLICATE);
Which statement is true regarding the above command?

A. The LOB values are automatically compressed.

B. The LOB values are cached by default in the buffer cache.

C. The LOB values are automatically stored in encrypted mode.

D. All LOB data that is identical in two or more rows in a LOB column share the same data
blocks.

Answer: D

QUESTION NO: 110
You are working on the APPDB database as a DBA. The database has a default Flashback Data
Archive DFLAL created pn it.

You issued the following command to drop the Flashback Archive FLAL:
DROP FLASHBACK ARCHIVE fla1;

What is the effect of thi§ command?

A. The tablespace havirlg Flashback Archive is dropped.

B. The Flashback Archiye FLAL is dropped only:if it is empty.

C. The Flashback Data Archive and historical data are dropped.

D. The Flashback Archiye FLA1 is dropped after moving the existing datalin it to the default
Flashback Archive.

Answer: C

QUESTION NO: 111
You are managing the APPPROD database as a DBA which is not using the Oracle-managed
files. You plan to duplicate this database in the same system with the name DUPDB. You want to
create the same directory structure for duplicate database files as of the target database.

You executed the following RMAN commands:

RMAN> CONNECT TARGET sys/sys@APPPROD

RMAN> CONNECT AUXILIARY sys/sys@DUPDB

RMAN> DUPLICATE TARGET DATABASE

TO dupdb

FROM ACTIVE DATABASE

PASSWORD FILE

SPILE

NOFILENAMECHECK;

What are the implications of this command?

A. It creates database files for the duplicate database under the Oracle base with a different
directory for the duplicate database.

B. It overwrites data files of the target database because a different location for data files is not
mentioned for the duplicate database.
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C. It creates database files for the duplicate database under the same Oracle home as that of the
target database with the same directory structure.

D. It creates database files for the duplicate database under the same Oracle home as that of the
target but with a different directory for the duplicate database.

Answer: B

QUESTION NO: 112
What are the recommendations for Oracle Database 11g installation to make it Optimal Flexible
Architecture (OFA)-compliant? (Choose all that apply.)

A. ORACLE_BASE should be set explicitly.

B. An Oracle base should have only one Oracle home created in it.

C. Flash recovery area and data file location should be on separate disks.

D. Flash recovery area and data file location should be created under Oracle base in a non-
Automatic Storage Management (ASM) setup.

Answer: A, C,D

QUESTION NO: 113
ENCRYPT_TS is an eng¢rypted tablespace that contains tables with data. Which statement is true
regarding the effect of gueries and data manipulation language (DML) stafements on the

encrypted data in the tables?

A. The data is decrypted during SORT and JOIN operations.

B. The data remains en¢rypted when it is read into memaory.

C. The data remains en¢rypted when it is stored in.the‘redo logs.

D. The data remains eng¢rypted in the UNDQO tablespace provided that thel UNDO tablespace was
created with the encrlyption option enabled.

Answer: C
QUESTION NO: 114

You decided to use Direct NFS configuration in a non-RAC Oracle installgtion and created the
oranfstab file in /etc. WHich two statements are true regarding this oranfstab file? (Choose two.)

A. Its entries are specific to a single database.

B. It contains file systems that have been mounted by Direct NFS.

C. Itis globally available to all Oracle 11g databases on the machine.

D. It contains file systems that have been mounted by the kernel NFS system.

Answer: C, D

QUESTION NO: 115

Observe the following warning in an RMAN session of your database instance:
WARNING: new failures were found since last LIST FAILURE command Which statement
describes the scenario that must have produced this warning?

A. The CHANGE FAILURE command has detected new failures recorded in the Automatic
Diagnostic Repository (ADR).

B. The VALIDATE DATABASE command has detected new failures recorded in the Automatic
Diagnostic Repository (ADR).

C. The ADVISE FAILURE command has detected new failures recorded in the Automatic
Diagnostic Repository (ADR) since the last LIST FAILURE.
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D. The RECOVER command has detected new failures recorded in the Automatic Diagnostic
Repository (ADR) since the last LIST FAILURE command was executed.

Answer: C

QUESTION NO: 116
Which statement is true regarding virtual private catalogs?

A. The virtual private catalog owner cannot create and modify the stored scripts.

B. A virtual private catalog owner can create a local stored script, and have read/write access to a
global stored script.

C. The set of views and synonyms that make up the virtual private catalog is stored in the
schema of the RMAN recovery catalog owner.

D. To perform most of the RMAN operations, the virtual catalog owner must have the SYSDBA or
SYSOPER privilege on the target database.

Answer: D

QUESTION NO: 117
Which statement descrill)es the significance of the CHANGE FAILURE command in RMAN?
(Choose all that apply.)

A. Itis used to explicitly [close the open failures.

B. It is used to execute fhe advised repair script.

C. It is used to change fhilure priority only for the CRITICAL priority.
D. It is used to change fhilure priority only for HIGH or LOW priorities.
E. It is used to inform the database about the repair after the repair script pxecutes.

Answer: A, D

QUESTION NO: 118
You perform the followirg activities during the database upgrade from Oracle Database 10g to
Oracle Database 11g:
1. Capture plans for a SRL workload into a SQL Tuning Set (STS) before upgrade.

2. Load these plans from the STS into the SQL plan baseline immediately|after the upgrade.
What is the reason for perderming-these-activities?

A. to minimize plan regression due to the use of a new optimizer version

B. to completely avoid the use of new plans generated by a new optimizer version

C. to prevent plan capturing when the SQL statement is executed after the database upgrade

D. to keep the plan in the plan history so that it can be used when the older version of the
optimizer is used

Answer: A

QUESTION NO: 119
View the Exhibit for some of the parameter settings.
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NAME TYFPE VALUE
optimizer dymamic sampling integer 2
optimizer features enable string 11106
optimizer wse invisible indexes  boolean FALEE
optimizer index caching irteget 1]
optimizer index cost ad) integer 100
skip ummsable indexes boolean TRUE

You start a session and issue the following command:
SQL>CREATE INDEX emp_ename ON emp(ename)
TABLESPACE users INVISIBLE;

What is the outcome of the above command?

A. The index is not used by the optimizer but is maintained during DML operations.

B. The index is not used by the optimizer and is not maintained during DML operations.

C. The index is used by the optimizer only if a hint is specified in the query statement and is
maintained during DML-operations

D. The index is used by [the optimizer only if a hint is specified in the query statement but is not
maintained during DNIL operations.

Answer: A

QUESTION NO: 120
While tuning a SQL statement, the SQL Tuning Advisor finds an existing $QL profile for the
statement that has stale| statistics available. What would‘the optimizer do |n this situation?

A. It updates the existingg SQL profiles with-current statistics.

B. It makes the statisticg information.available to GATHER_STATS JOB.

C. It initiates the statistigs collection process by running GATHER_STATS JOB.

D. It logs a warning megsage in thealert log so that the DBA can perform/|statistics collection
manually.

Answer: B

QUESTION NO: 121

In your database, the LDAP_DIRECTORY_SYSAUTH initialization parameter has been set to
YES and the users who need to access the database as DBAs have been granted SYSDBA
enterprise role in Oracle Internet Directory (OID). SSL and the password file have been
configured. A user SCOTT with the SYSDBA privilege tries to connect to the database instance
from a remote machine using the command:

$ SQLPLUS scott/tiger@DB01 AS SYSDBA

where DBO1 is the net service name.

Which authentication method would be used first?

A. authentication by password file

B. authentication by using certificates over SSL

C. authentication by using the Oracle Internet Directory

D. authentication by using the local OS of the database server

Answer: A

QUESTION NO: 122
The following databases are registered in the base recovery catalog:
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PROD1, PROD2, and PROD3. The database user CATOWNER owns the base recovery catalog.
You want a new user VPCL1 to have access to only the PROD1 database and create a virtual
private catalog.

Given below are some of the commands required to achieve this:

1.SQL> GRANT recovery_catalog_owner TO vpcl;

2.RMAN> CONNECT CATALOG vpcl/password@catdb;

3.RMAN> GRANT CATALOG FOR DATABASE prodl TO vpcl;

4. RMAN> CONNECT CATALOG catowner/password@catdb;

5.RMAN> CREATE VIRTUAL CATALOG;

What is the correct sequence in which the commands have to be executed?

mooOw>»
PROARPP
NS WO
WUTWNN
Ok R ow

Answer: B

QUESTION NO: 123
While deploying a new gpplication module, the software vendor ships the ppplication software
along with appropriate QL plan baselines for the new SQLs being introdliced.

Which two statements describe the consequences? (Choose two.)

A. The plan baselines can be evolved over time to produce better performance.

B. The newly generated|plans are directly placed into the SQL plan baseline without being
verified.

C. The new SQL statements initially run with the plans that are known to groduce good
performance under sfandard test configuration.

D. The optimizer does npt generate new plans for the SQL statements forjwhich the SQL plan
baseline has been inmported.

Answer: A, C

QUESTION NO: 124
You plan to have a largermeving-window-size-forthe-default-system-defined moving window
baseline because you want to use the adaptive threshold. Which statement factors in this
consideration while increasing the size of the moving window?

A. The collection level for the AWR should be set to BASIC.

B. The moving window size must be less than Undo Retention.

C. The moving window size should be greater than the Automatic Workload Repository (AWR)
retention period.

D. The moving window size should be equal to or less than the Automatic Workload Repository
(AWR) retention period.

Answer: D

QUESTION NO: 125

You are managing an Oracle Database 11g database with ASM storage. The ASM disk group
has the COMPATIBLE.ASM attribute set to 11.1. Which statements are true regarding extent
management and allocation units in the ASM disk group? (Choose all that apply.)

A. Extent management is completely automated.
B. The allocation unit size may vary but the extent size is fixed.
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C. The au_size disk group attribute determines the size of allocation units in the disk group.
D. The allocation unit size and extent size are fixed for all the disks in a disk group and cannot be
changed.

Answer: A, C

QUESTION NO: 126

You issued the following command to mount the DATA disk group in restricted mode:
ALTER DISKGROUP data MOUNT RESTRICT;

What is the implication of this command?

A. A disk in a disk group can be taken offline.

B. A new disk cannot be added to a disk group.

C. The client RDBMS instance can access the file as a read-only file.

D. The client RDBMS instance cannot access the files in the disk group.

Answer: D

QUESTION NO: 127
Examine the section of 1Ihe Health Check report given below:
DBMS HM.GET_RUN_REPORT(HM_RUN_1061"

Run Name : HM_RUN_1061
Run Id : 1061
Check Name : Data Blogk Integrity Check
Mode : REACTIVE

Status : COMPLETED
Start Time : 2007-05-12(22:11:02.032292 -07:00
End Time : 2007-05-12 P2:11:20.835135 -07:00
Error Encountered : 0
Source Incident Id : 741B
Number of Incidents Created :0
Which two statements afe true regarding the Health Check report? (Choosge two.)

A. Health Check was performed manually.
B. Health Check was peHormedto-check-the-disk-image-block-corruptions.
C. Health Check was performed to check interblock and intersegment corruption.

D. Health Check was performed to verify the integrity of database files and report failures.

E. Health Check was performed by the Health Monitor automatically in response to a critical error.

Answer: A, B

QUESTION NO: 128

You are working on a CATDB database that contains an Oracle Database version 11.1 catalog
schema owned by the user RCO11. The INST1 database contains an Oracle Database version
10.1 catalog schema owned by the user RCAT10.

You want the RMAN to import metadata for database IDs 1423241 and 1423242, registered in
RCAT10, into the recovery catalog owned by RCO11. You also want to deregister them from the
catalog after import.

You executed the following commands to achieve this:

RMAN> CONNECT CATALOG rcoll/password@catdb

RMAN> IMPORT CATALOG rcatl0O/oracle@instl DBID=1423241,1423242;

What happens if the RCO11 catalog has scripts with the same name as that of the scripts in
RCAT10 catalog?
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A. The scripts in the RCO11 catalog are overwritten.

B. RMAN renames the local stored scripts in the RCO11 catalog.

C. The RMAN session in which the command is executed aborts.

D. RMAN renames the global scripts that are imported from the RCAT10 catalog.

Answer: D

QUESTION NO: 129

You need to configure fine-grained access control to external network resources from within your
database. You create an access control list (ACL) using the DBMS_NETWORK_ACL_ADMIN
package.

Which statement is true regarding the ACL created?

A. Itis a list of remote database links stored in the XML file that are available to the users of the
database.

B. Itis a list of users and network privileges stored in the XML file according to which a group of
users can connect to one or more hosts.

C. Itis a list of users and network privileges stored in the data dictionary according to which a
group of users can cerhect-to-one-ormore hasts.

D. Itis the list of the hoﬂ: names or the IP addresses stored in the data digtionary that can
connect to your datalpase through PL/SQL network utility packages sugh as UTL_TCP.

Answer: B

QUESTION NO: 130
Which statement is true|regarding online redefinition for the migration of BasicFile LOBs to
SecureFile LOBs?

A. It cannot be done in parallel.

B. It can be done at the fable level or partition level.
C. It does not require additional storage because the operation is done onjine.
D. Local and global indgxes are maintained automatically during the operation.

Answer: B

QUESTION NO: 131
Which statement describes the information returned by the DBMS_SPACE.SPACE_USAGE
procedure for LOB space usage?

A. It returns space usage of only BasicFile LOB chunks.

B. It returns space usage of only SecureFile LOB chunks.

C. It returns both BasicFile and SecureFile LOB space usage for only nonpartitioned tables.

D. It returns both BasicFile and SecureFile LOB space usage for both partitioned and
nonpartitioned tables.

Answer: B

QUESTION NO: 132
View the Exhibits exhibitl and exhibit2.
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newjobarr sSys.]ob_array;
new] ohname VARCHARZ (30) ;
BEEGIN
newjobarr := sys.job array();
newjobarr. extend (10} ;
FCOR :| in 1..&1 LOOP
FOR 1 IN 1..10 LOCE
newjoh := sys.job{job name =» "LWTJIR" || to _char{i)||"_"||to_char{j},
job_style => "LIGHTWEIGHT',
job_template == "PROG 17,
enabled => TRUE
1i
newjobarri{i) := newjob;
END LOOF;
INZERT INTO TE3T Los
VALUES ("LWTJ™, "3TART™, 3W3TIMESTAME) ;
DEMZ 3CHEDULER. CREATE JOES {newj oharr, "TRANIACTICNALT);
INZERT INTO TE3T Los
VALUES ("LWTJ', "END', 8Y3TIMESTAME ;
END LOCFE;
END;

DECLARE
newjoh sys.Jjob;
newjobarr sys.joB array;
new]obname VARCHARZ (30);
BEGIN
newjoharr := sys.J)jobh array();
newjobarr.extend (10} ;
FOR ] in 1..&1 LOgQP
FOR 1 IN 1..10 LOoOP

newjobh := sys.]ob(job name == "REGJIR" || to_char{i}|||*_"||lto _charij),
job_style => "REGULAR",
job_template =+ "PROG 17,
enabled => TRUE
1i

newjobarr (i) :3§ newjoh;
END LOOP;
INSERT INTC TEST LOG
YATLUES ( "REGJOB", "START', SYSTIMESTAME) ;
DEMS SCHEDULER.CREATE JOES (newjobarr, 'TRANSACTIONAL');
INSERT INTC TEST LOG
VALUES ("REGJOB", "END', SY3TIMESTAME) ;
END LOOE;
Both the processes use PROG _1 as the job template that is already available. The time taken by
the jobs are recorded in the TEST_LOG table. While comparing the time taken to create the jobs,
the process in exhibitl takes less time than the process in exhibit2.
What is the reason for this?

A. It creates less metadata for the jobs.

B. It creates jobs temporarily in memory only.

C. It writes the job metadata to disk in compressed format.

D. It updates several tables in the SYSTEM tablespace instead of creating new tables.

Answer: A

QUESTION NO: 133
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View the Exhibit to examine the metrics with a threshold.
Display | Metrics with Thresholes = (Go)
Wlerts Configured with AWR Baseline Metric Thresholds

Edlit Thresholds

Alert Counts

Select Mefric Name Critical Warning AWR Baseline Threshold Type Adaptive?

) Workload Volume Metrics

o Cumulative Logons {per second)

£ Current Open Cursors Count

{” Number of Transactions (per second)

0

(===

SYSTEM_MOVING_WINDOW

Significance Level

Fixed Values
Fixed Values

Which statement is true regarding the Number of Transactions (per second) metric?

A.
for the metric.
B.

determine threshold values.

value captured by the baseline.

. The total concurrent

number of threshold violations which muist occur

Oracle uses statistical relevance to determine when an adaptive threshold has been breached
The statistics for the metric values observed over the baseline time period are not examined to

. Oracle determines when an adaptive threshold has been breached based on the maximum

before an alert is raised

for the metric, has bg
Answer: A

QUESTION NO: 134

You performed the RMA
FOREVER option. After
you issued the following
RMAN>CHANGE BACK
What is the implication ¢

A. The backup is delete
B. The backup is marke
C. The backup overrideg
D. the backup becomes
Answer: D

QUESTION NO: 135

en set to zero.

N database backup having a backupset key num
some days, you want to change the status of the
command:

UPSET 231 NOKEEP;

f this command?

.
1 unavailable.

the backup. retention policy.
eligible fordeletion according to the existing reter

per 231 with the KEEP
database backup and

tion policy

View the Exhibit that sets the threshold for the Current Open Cursors Count metric.

AWR Baseline

Current Open Cursors Count vs. Baseline

Wessd of Jul 21, 2007

AWR Baseline I SYSTEM_MOVING_!

Thres hold Settings

WINDOW j

i ¥l
it ST o

(5ol

1Thu Fri

iferd

Threshoki Type [ Fixed Valuss

K

Warning _!\

Critical 9

Qccurrences |3

Percentage of Maximum
Fixed Values

1,000

Update Display

500
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Why is the Significance Level threshold type not available in the threshold setting?

A. because AWR baseline is not enabled

B. because Current Open Cursors Count is not a basic metric

C. because the STATISTICS_LEVEL parameter is set to BASIC

D. because the AWR baseline is a system-defined moving window baseline

Answer: B

QUESTION NO: 136
Which two statements are true regarding hot patching? (Choose two.)

A. It requires relinking of the Oracle binary.

B. It does not require database instance shutdown.

C. It can detect conflicts between two online patches.

D. It is available for installing all patches on all platforms.
E. It works only in a single database instance environment.

Answer: B, C

QUESTION NO: 137
You are in the process of creating a virtual private catalog in your Oracle Database 11g database.
The PROD1, PROD2, ahd PROD3 Oracle Database 10g databases are re¢gistered in the base
recovery catalog. The dFtabase user who owns the base recovery catalog is CATOWNER.
CATOWNER executes the following command to grant privileges to a new user VPC1 using
Oracle
Database 11g RMAN ejecutables:

RMAN> GRANT CATALOG FOR DATABASE prod1l, prod2 TO vpcl;
Then you issue the following commands:

RMAN> CONNECT CATALOG vpcl/oracle@catdb;

RMAN> SQL "EXEC cajowner.dbms_rcvcat.create_virtual_catalog;"
What is the outcome of the above commands?

A. They execute and crgate a‘virtual catalog for pre-Oracle 119 clients.

B. They produce an errqr because PROD1 and PROD2 databases belong to the older version.

C. They produce an errorbecause-you-heed-to-connectas-CATFOWNER-H0 execute this
packaged procedure.

D. They produce an error because you need to connect to the target database to execute this
packaged procedure.

Answer: A

QUESTION NO: 138
You installed Oracle Database 11g afresh. Which statements are true regarding the default audit
settings in this database? (Choose all that apply.)

A. Auditing is enabled for all privileges.

B. Auditing is disabled for all privileges.

C. The audit trail is stored in the database.

D. The audit trail is stored in an operating system file.

E. Auditing is enabled for certain privileges related to database security.

Answer: C, E

QUESTION NO: 139
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The INV_HISTORY table is created using the command:
SQL>CREATE TABLE INV_HISTORY

(inv_no NUMBER(3),

inv_date DATE,

inv_amt NUMBER(10,2))

partition by range (inv_date)

interval (numtoyminterval(1,'month"))

(partition p0 values less than (to_date('01-01-2005','dd-mm-yyyy"),
partition p1 values less than (to_date('01-01-2006','dd-mm-yyyy")));
The following data has been inserted into the INV_HISTORY table :
INV_NO INV_DATE INV_AMT

1 30-dec-2004 1000

2 30-dec-2005 2000

3 1-feb-2006 3000

4 1-mar-2006 4000

5 1-apr-2006 5000

You would like to store the data belonging to the year 2006 in a single partition and issue the
command:

SQL> ALTER TABLE iny—hi PARTITIONS
FOR(TO_DATE('15-feb{2006','dd-mon-yyyy")), FOR(TO_DATE('15-apr-2406"))
INTO PARTITION sys_py;

What would be the outcpme of this command?

A. It executes successfylly, and the transition point is set to ‘1-apr-2006'.

B. It executes successfylly, and the transition point is setto '15-apr-2006'.

C. It produces an error ljecause the partitions specified for. merging are ngt adjacent.

D. It produces an error ljecause the date values specified in the merge dg not match the date
values stored in the tpble.

Answer: C

QUESTION NO: 140
You create a hew Auto
instance_analysis_mod
SQL> SELECT dbms_
You want to suppress A
segments.

What would you do to achieve this?

atic Database Diagnostic Monitor (ADDM) task:
_task. Toview the ADDM report, you use the follpwing command:
dm.get_report('my_instance_analysis_mode_tagdk') FROM dual,

i i i )n user SCOTT's

A. Add a finding directive for the ADDM task.

B. Add a segment directive for the ADDM task.

C. Add a parameter directive for the ADDM task.

D. Disable the Segment Advisor from the Automatic Maintenance Task.

Answer: B

QUESTION NO: 141

A PL/SQL procedure queries only those columns of a redefined table that were unchanged by the
online table redefinition. What happens to the PL/SQL procedure after the online table
redefinition?

A. It remains valid.
B. It becomes invalid for all options of online table redefinition but automatically gets revalidated
the next time it is used.
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C. It becomes invalid for all options of online table redefinition and is automatically recompiled
during online redefinition of the table.

D. It becomes invalid only if the storage parameters have been modified and it automatically gets
revalidated the next time it is used.

Answer: A

QUESTION NO: 142
Which dependent object will get invalidated even if it is not affected by the table redefinition?

A. views

B. triggers
C. packages
D. synonyms

Answer: B

QUESTION NO: 143
You are managing an acle-Datahase 1 1g mnstance You want to create dup"ca’[e database for
testing purpose. What afe the prerequisites for performing the active datapase duplication?

(Choose all that apply.)

A. The source database|backup must be copied over the net foritest database.

B. The source databasel must be run in ARCHIVELOG mode:if the databgse is open.

C. The source databasd must be shut down cleanly if the-database is in mounted state.

D. A net service name should be set up and a listener configured with the|target as well as the
source database.

Answer: B, C, D

QUESTION NO: 144
An index called ORD_CJUSTNAME_IX has been created on the
CUSTNAME column in the ORDERS: table using the following command:
SQL>CREATE INDEX qrd_custname_ix ON orders(custname);

The ORDERS table is frequently queried using the CUSTNAME column i
You want to check the i jesH j
do not want the index to be dropped or rebuilt to perform this test.

Which is the most efficient method of performing this task?

the WHERE clause.
X is not available. You

A. disabling the index

B. making the index invisible

C. making the index unusable

D. using the MONITORING USAGE clause for the index

Answer: B

QUESTION NO: 145
Which tasks can be accomplished using the DBMS_LOB.SETOPTIONS procedure?

A. only encryption and compression settings for all SecureFile LOBs

B. only encryption and deduplication settings for only SecureFile CLOBs

C. deduplication, encryption, and compression settings for all SecureFile LOBs

D. deduplication, encryption, and compression settings only for SecureFile CLOBs

Answer: C
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QUESTION NO: 146
Which of the following information will be gathered by the SQL Test Case Builder for the
problems pertaining to SQL-related problems? (Choose all that apply.)

A. ADR diagnostic files

B. all the optimizer statistics

C. initialization parameter settings

D. PL/SQL functions, procedures, and packages
E. the table and index definitions and actual data

Answer: B, C, E

QUESTION NO: 147
You enabled Flashback Data Archive on the INVENTORY table. Which DDL operation is
supported on the table after enabling Flashback Data Archive?

A. Drop the table.

B. Partition the table
C. Truncate the table.
D. Add a column to the {able.

E. Rename a column infthe table.

Answer: D

QUESTION NO: 148
You are working on a CATDB database that contains-an‘Oracle Databasq version 11.1 catalog
schema owned by the user RCO11. The INST1.database contains an Orgcle Database version
10.1 catalog schema owned by the user RCAT10.
You want the RMAN to import metadata for database IDs 1423241 and 1423242, registered in
RCAT10, into the recovgry catalog owned by RCO11. You executed the fpllowing commands:
RMAN> CONNECT CATALOG rcoll/password@catdb

RMAN> IMPORT CATALLOG rcatl0/oracle@instl NO UNREGISTER;
Which two statements afe true regarding the tasks accomplished with these commands?
(Choose two.)

A. They import all metadata from the RCAT10 catalog.

B. They unregistered the database from the RCAT10 catalog.

C. They do not register the databases registered in the RCAT10 catalog.
D. They register all databases registered in the RCAT10 catalog.

Answer: A, D

QUESTION NO: 149
Which statements are true regarding table compression? (Choose all that apply.)

A. It requires uncompress operation during I/O.

B. It saves disk space and reduces memory usage.

C. It saves disk space but has no effect on memory usage.

D. It incurs extra CPU overhead during DML but not direct loading operations.

E. It incurs extra CPU overhead during DML as well as direct loading operations.

Answer: B, E

QUESTION NO: 150
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You have a range-partitioned table in your database. Each partition in the table contains the sales
data for a quarter. The partition related to the current quarter is modified frequently and other
partitions undergo fewer data manipulations. The preferences for the table are set to their default
values. You collect statistics for the table using the following command in regular intervals:

SQL> EXECUTE
DBMS_STATS.GATHER_TABLE_STATS('SH','SALES',GRANULARITY=>'GLOBAL);

You need statistics to be collected more quickly. What can you do to achieve this?

A. Set DYNAMIC_SAMPLING to level 4.

B. Set the STATISTICS_LEVEL parameter to BASIC.

C. Set the INCREMENTAL value to TRUE for the partition table.
D. Increase the value of STALE_PERCENT for the partition table.

Answer: C
QUESTION NO: 151

Which two statements are true regarding the Automatic Diagnostic Repository (ADR) in Oracle
Database 11g? (Choose two.)

A. A single ADR can suﬂ)port multiple ADR homes for different database i||1stances.

B. The alert files are stofed in XML file format in the TRACE directory of each ADR home.

C. If the environmental yariable ORACLE_BASE is set, then DIAGNOSTIC_DEST is set to
$ORACLE_BASE.

D. The BACKGROUND| DUMP_DEST initialization parameter overrides the
DIAGNOSTIC_DEST| initialization parameter for the location of the alent log file.

Answer: A, C

QUESTION NO: 152
Which two statements afe true with respect to the maintenance window? (Choose two.)

A. A DBA can enable or|disable anindividual task in all maintenance windows.

B. A DBA cannot changg the duration of the maintenance window after it is created.

C. In case of a long maiptenance window, all Automated Maintenance Tagks are restarted every
four hours.

D. A DBA can control the-percentage-of-theresource-allocated-to-the-Automated Maintenance
Tasks in each window.

Answer: A, D

QUESTION NO: 153
In which situations will the ASM metadata backup help you recover the ASM disk in a disk group?
(Choose all that apply.)

A. when one or more disks in an ASM disk group are lost

B. when the data file on an ASM disk group gets corrupted

C. when one of the disks in a disk group is accidentaly unplugged

D. when one or more file directory paths are accidentally deleted from an ASM disk group

Answer: A, D

QUESTION NO: 154

Observe the following PL/SQL block:

BEGIN
dbms_spm.configure(SPACE_BUDGET_PERCENT", 30);
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END;

Which statement is correct regarding the above PL/SQL block?

A. It reserves 30% of the space in the SYSTEM tablespace for SMB.

B. It reserves 30% of the space in the SYSAUX tablespace for SQL Management Base (SMB).

C. It generates a weekly warning in the alert log file when SMB occupies more than 30% of the
SYSAUX tablespace.

D. It automatically purges the SQL management objects when SMB occupies more than 30% of
the SYSAUX tablespace.

Answer: C

QUESTION NO: 155
You want to perform the following operations for the DATA ASM disk group:
-Verify the consistency of the disk.

-Cross-check all the file extent maps and allocation tables for consistency.
-Check whether the alias metadata directory and file directory are linked correctly.
-Check that ASM metadata directories do not have unreachable allocated blocks.
Which command acco lishes these tasks?

A. ALTER DISKGROUH data CHECK;

B. ALTER DISKGROUH data CHECK DISK;

C. ALTER DISKGROUHR data CHECK FILE;

D. ALTER DISKGROUH data CHECK DISK IN FAILURE GROUP 1;

Answer: A

QUESTION NO: 156
Examine the following RMAN command:
BACKUP DATABASE
TAG TESTDB

KEEP UNTIL 'SYSDATE+1'
RESTORE POINT TESTDBOQG6;
Which two statements afe true regarding the backup taken by using the above RMAN command?
(Choose two.)

A. Only data files and the control file are backed up.

B. Archived redo logs are backed up only if the database is open during the backup.

C. The backup is deleted after one day, regardless of the default retention policy settings.

D. The backup becomes obsolete after one day, regardless of the default retention policy
settings.

Answer: B, D

QUESTION NO: 157
You want the Automatic SQL Tuning process to stop accepting and implementing the
recommended SQL profiles automatically. Which action would you perform to achieve this?

A. Edit the automatic maintenance window group configuration.

B. Set the CURSOR_SHARING parameter to EXACT for the database instance.

C. Use the DBMS_SQLTUNE.SET_TUNING_TASK_PARAMETERS procedure to set
ACCEPT_SQL_PROFILES to FALSE.

D. Set the SQLTUNE_CATEGORY parameter to DEFAULT for the database instance.

Answer: C
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QUESTION NO: 158
Which two statements are true regarding the functionality of the remap command in ASMCMD?
(Choose two.)

A. It repairs blocks that have read disk 1/O errors.

B. It checks whether the alias metadata directory and the file directory are linked correctly.

C. It repairs blocks by always reading them from the mirror copy and writing them to the original
location.

D. It reads the blocks from a good copy of an ASM mirror and rewrites them to an alternate
location on disk if the blocks on the original location cannot be read properly.

Answer: A, D

QUESTION NO: 159

During the installation of Oracle Database 11g, you do not set ORACLE_BASE explicitly. You
selected the option to create a database as part of the installation. How would this environment
variable setting affect the installation?

A. The installation termipates with an error.

B. The installation procgeds with the default value without warnings and efrors.

C. The installation procgeds with the default value but it would not be an QFA-compliant
database.

D. The installation procgeds with the default value but a message would e generated in the alert
log file.

Answer: D

QUESTION NO: 160
View the Exhibit exhibit].
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Name Hully Lrype
CUST_ID NUMEER
CUST_FIRST_NAME NOT NULL WVARCHARZ (Z0)
CUST_LAST_NAME NOT NULL VARCHARZ (40)
CUST_GENDER CHAR (1)
CUST_YEAR_OF_BIRTH NUMEER {4}
CUST_MARITAL_STATUS VARCHARZ (20
CUST_STREET_ADDRESS NOT NULL VARCHARZ (40)
CUST_POSTAL_CODE NOT NULL WVARCHARZ (10)
CUST_CITY NOT NULL VARCHARZ (30)
CUST_STATE_PROVINCE VARCHARZ (409
COUNTRY_ID NOT NULL CHAR(Z)
CUST_MAIN_PHONE_NUMEER VARCHARZ (25)
CUST_INCOME_LEVEL VARCHARZ (309
CUST_CREDIT_LIMIT NUMEER
CUST_EMAIL VARCHARZ (30)

8QL> SELECT COUNT(*) FROM customers obe WHERE country id = "US" AND cust_state province = "CAT;
COUNT (*)
SQL> EXECUTE dbms_stats.gather table stats(null, "customers_obe’, method opt = "for all columns size 17);

SCL> EXPLAIN PLAN FOR SELECT * FROM customers_obe where country_id = 'U3" AND cust state province = "CAT;

Explained.
S0L® SJELECT plan table ougput FROM TABLE(dbms_xplan.display('plan_tahle',null,'EASIC ROWST));
PLAN TABLE OUTPUT

Plan hash wvalue: 520139034

| Id | Operation | Wame | Rows
| 0 | SELECT STATEMENT || | g
| 1 | TABLE ACCESS FULI| CUSTOMERS_OEE | g |

A rom= a2rlected.

In the CUSTOMERS_OBE table, when the value of CUST_STATE_PROVINCE is "CA", the
value of COUNTRY_ID |s "US."

View the Exhibit exhibit2 to examine the commands and query plans.
The optimizer can sens¢ 8 rows instead of 29 rows, which is the actual nymber of rows in the
table. What can you do {o make the optimizer detect the actual selectivity?

A. Set the STATISTICS H-EVELparameterto—TFPICAL:

B. Change the STALE_PERCENT value for the CUSTOMERS_OBE table.

C. Set the OPTIMIZER_USE_PENDING_STATISTICS parameter to FALSE.

D. Create extended statistics for the CUST_STATE_PROVINCE and CUSTOMERS_OBE
columns.

Answer: D

QUESTION NO: 161
View the Exhibit to examine the Automatic SQL Tuning result details.
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Cnly profiles that significantly improve QL performance were implemented.
( Wiew Recommendations =1 Previ I 1-250f 73 j Mext 25 (F
Parsing Restructure
Select SQL Text |Schema SQL ID |Statistics SQL Profile *, Index saL :Miscella.neous-Ermr:Daie

{" SELECT NULL AS table_cat, SYSMAN 551 v (98.5%) 7207
t.owner...

& |sELECT EXECUTION_ID, SYSMAN fyk (B850 (97.9%) » TH207
STATUS, STATUS_DETA..

{" |sELECT i+ INDEX(sqlobjh 8YS5 o 207
(signature cate. .

{” sekect OBJCID, CLSOID, SYS Buflchagklxy 5 S 7207
RUNTIME, PRI, JO...

" selctemontaby.cnt, sYS = 71207
smontab.time_mp, ...

7 select svs i 7207
t.is# Lfile# t block#, nviit.bobj...

{7 select obj#, catackj#, part#, SYS N 7112007
hiboundlien. ..

£ lsekot priviege# kevel from oY OhehosaybTdn o TN207
sysauth co...

o sekect value(pF) from SYS 2 W 2oy
"XDE".'XDBIRESCLURC...

" sELECT obj type, plan_id, nhme, 55 Oninassmcczic ta THa07
flags, I..

Which action would you|suggest for the selected SQL statement in the Exhibit?

A. Accept the recommended SQL profile.
B. Collect statistics for tine related objects.
C. Run the Access Advigor for the SQL statement.
D. Run the Segment Adyisor for recommendations.

Answer: C

QUESTION NO: 162
Evaluate the following cpde:

SQL>VARIABLE task_rlame VARCHAR2(255);
SQL>VARIABLE sql_stmt VARCHAR2(4000);
SQL>BEGIN

:sgl_stmt := 'SELECT COUNT(*) FROM customers
WHERE cust_state_province ="CA™;

:task_name :='MY_QUICKTUNE_TASK;
DBMS_ADVISOR.QUICK_TUNE(DBMS_ADVISOR.SQLACCESS_ADVISOR,
:task_name, :sql_stmt);

END;

What is the outcome of this block of code?

A. It creates a task and workload, and executes the task.

B. It creates a task and workload but does not execute the task.

C. It produces an error because a template has not been created.

D. It produces an error because the SQL Tuning Set has not been created.

Answer: A

QUESTION NO: 163
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You have applications that have frequently executed queries, and produce small and static result
sets.

You configure the sglnet.ora file in the client machine to set a nonzero value for the
OCI_RESULT_CACHE_MAX_SIZE parameter.

What is the purpose of this configuration?

A. to avoid round trips to the server by enabling caching of query results in client memory

B. to improve performance by storing a copy of the data from the private SQL area of the PGA

C. to enhance the query performance by creating a cache in the client memory for sorting
operations

D. to avoid the storing of query plans and results in the server by creating a cache in the client
memory

Answer: A

QUESTION NO: 164
You plan to use SQL Performance Analyzer to analyze the SQL workload. You created a SQL
Tuning Set as a part of the workload capturing. What information is captured as part of this

process? (Choose all thatapph)

A. the SQL text

B. the execution plan
C. the execution contex
D. the execution frequemncy

E. the system change nimber (SCN)

Answer: A, C,D

QUESTION NO: 165
View the following SQL ptatements:
Transaction T1
INSERT INTO hr.regiong VALUES (5,'Pole";
COMMIT;
Transaction T2
UPDATE hr.regions SET region_name='Poles' WHERE region_id = 5;
COMMIT;
Transaction T3
UPDATE hr.regions SET region_name='North and South Poles' WHERE
region_id = 5;

You want to back out transaction T2. Which option would you use?

A. It is possible, but transaction T3 also backs out.

B. It is possible with the NOCASCADE_FORCE option.

C. Itis possible with the NONCONFLICT_ONLY option.

D. It is not possible because it has conflicts with transaction T3.

Answer: B

QUESTION NO: 166
Which three statements are true regarding persistent lightweight jobs? (Choose three.)

A. The user cannot set privileges on persistent lightweight jobs.
B. The use of a template is mandatory to create persistent lightweight jobs.
C. Persistent lightweight jobs modify several tables in the data dictionary to generate a lot of redo.
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D. Persistent lightweight jobs are useful when users need to create a large number of jobs in a
short time.

E. Persistent lightweight jobs are useful when users need to create a small number of jobs that
run infrequently.

Answer: A, B, D

QUESTION NO: 167
What is the advantage of setting the ASM-preferred mirror read for the Stretch cluster
configuration?

A. It improves resync operations.

B. This feature enables much faster file opens.

C. Itimproves performance as fewer extent pointers are needed in the shared pool.
D. It improves performance by reading from a copy of an extent closest to the node.

Answer: D

QUESTION NO: 168
Identify two situations infwhich you can use Data Recovery Advisor for re¢overy. (Choose two.)

A. The database files arp corrupted when the database is open.

B. The archived log fileq are missing for which backup is not available.

C. The user has droppefl an important table that needs to be‘recovered.

D. You are not able to sjart up the database instance because the required database files are
missing.

Answer: A, D

QUESTION NO: 169
The ADMIN_EMP table jhas columns EMPNO, ENAME, DEPTNO, and SAL. It has a materialized
view EMP_MV with a materialized log and an ENAME_IDX index on the ENAME column.

You need to perform an|online table redefinition on the ADMIN_EMP table to move it from the
TBS1 tablespace to the [TBS2'tablespace in the same schema.
What action is required for the dependent objects when you perform onling redefinition on the
table?

A. The materialized view should have a fast refresh performed after the online table redefinition is
completed.

B. The materialized view should have a complete refresh performed after the online table
redefinition is completed.

C. The materialized view, materialized log, and the index should be dropped and re-created after
the online table redefinition is complete.

D. The materialized view and materialized log should be dropped and all constraints disabled and
re-created after the online table redefinition is complete.

Answer: B

QUESTION NO: 170
View the Exhibit to examine the error obtained during the 1/O calibration process.
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SOL> EXECCUTE dbms_resource_manager.calibrate_ioi -
nur_physical _disks==1, -
ax_latency=»30, -
ax lops=F:max lops, -
ax mbps=>:imax mbps, -
actual latency=>:actual latency);
EEGIN dbms_resource manager.calibrate io{ num physical disks=>1, max latency=»50, max lops=>:max iops,
ax_mhps=r:imax mhps, actual latency=>:actual latency); END;

+

ERROR at lins 1:

ORA-56708: Could not find any datafiles with asynchronous i/o capability
ICPA-05512: at "SYS.DBMS_PJ“IIN", line 453

CPA-0651Z2: at "SYS.DBMS_RESOURCE_MNAGER", line 1153

ORA-0&512: at line 1

There are no data files on raw devices. What is the reason for this error?

A. The DISK_ASYNCH_IO parameter is set to TRUE.

B. The FILESYSTEMIO_OPTIONS parameter is set to NONE.

C. Another session runs the I/O calibration process concurrently.

D. The pending area has not been created before running the I/O calibration process.

Answer: B

QUESTION NO: 171
You want to track and sfore all transactional changes to a table over its lifgtime. To accomplish
this task, you enabled Flashback Data Archive with the retention.of 5 years. After some time, the
business requirement cljanged and you were asked to change the retention from 5 years to 3
years. To accomplish th|s, you issued the following command:
ALTER FLASHBACK ARCHIVE flal MODIFY RETENTION 3 YEAR;
What is the implication @f this command?

A. The command produges an error because the retention time cannot belreduced.

B. All historical data older than three years is purged from the flashback afchive FLAL.

C. All historical data is purged andthe new flashback data archives are mgintained for three
years.

D. All historical data is r¢tained-but the subsequent flashback data archivgs are maintained for
only three years.

Answer: B

QUESTION NO: 172

Examine the following command:

ALTER DISKGROUP data MOUNT FORCE;

In which scenario can you use the above command to mount the disk group?

A. when ASM disk goes offline

B. when one or more ASM files are dropped

C. when some disks in a disk group are offline

D. when some disks in a failure group for a disk group are rebalancing

Answer: C

QUESTION NO: 173

To control the execution of a server process when it is receiving bad packets from a potentially
malicious client, you set the SEC_PROTOCOL_ERROR_FURTHER_ACTION initialization
parameter as follows:

SQL> ALTER SYSTEM SET SEC_PROTOCOL_ERROR_FURTHER_ACTION = Drop,10;
What is the significance of this setting?
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A. It terminates the client connection after 10 bad packets and the client cannot reconnect to the

same instance.

attempt the same operation again.

cannot reconnect to the same instance.

the same instance after 10 minutes.

Answer: B

QUESTION NO: 174

. It terminates the client connection after 10 bad packets but the client can still reconnect, and
. It terminates the client connection 10 seconds after receiving a bad packet and the client

. It terminates the client connection after receiving a bad packet and the client can reconnect to

You have the following requirements in relation to the detection of block corruption for your

database instance:

1. Check for logical self-consistency of data blocks when modified in memory.
2. Checksums are calculated before and after the block change.

3. Checks are performe
Which method would he

A. Set the DB_SECURE
B. Set the DB_ULTRA_
C. Set the DB_LOCK_G
D. Set the DB_LOST_W

Answer: B

QUESTION NO: 175

You are managing an O
the same machine. Both
regarding the ASM disk

apply.)

A.
B.

ASM compatibility co

d_for the lost writes tao the phycir\al cf:)nrlhy datah

Ip you perform the above checks automatically?

FILE parameter to PERMITTED.

SAFE parameter to DATA_ONLY.
HECKSUM parameter to TYPICAL.
RITE_PROTECT parameter to TYPICAL.

instances use the ASM instance as storage. Whi
group compatibility attributes are true in this scen

hiralc which faaturac faor tha ASM will ha anahlad
H-OOSWHHeHHeattH-eSHoittHer—o v WhrBe-eHabtea-

Se.

racle Database 11g instance and an Oracle Datalpase 10g instance on

ch statements
brio? (Choose all that

mount the ASM disk group.

C.

ASM metadata on the disk.

D.

RDBMS compatibility and the database version determines whether a database instance can
The RDBMS compatibility settings for a disk group control the format of data structures for

The database-compatibility version settings for each instance must be greater than or equal to

the RDBMS compatibility of all ASM disk groups used by that database instances.

Answer: A, B, D

QUESTION NO: 176

Evaluate the following function code:
CREATE FUNCTION get_dept_avg(dept_id NUMBER)

RETURN NUMBER

RESULT_CACHE RELIES_ON (EMPLOYEES)

IS
avgsal NUMBER(6);
BEGIN

SELECT AVG(SALARY)INTO avgsal

FROM EMPLOYEES
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WHERE DEPARTMENT_ID = dept_id;

RETURN avgsal;

END get_dept_avg;

Which statement is true regarding the above function?

A. The cached result becomes invalid when any structural change is done to the EMPLOYEES
table.

B. If the function execution results in an unhandled exception, the exception result is also stored
in the cache.

C. Each time the function is invoked in a different session, the current result in the result cache
gets overwritten.

D. If the function is invoked with a different parameter value, the existing result in the result cache
gets overwritten by the latest value.

Answer: A

QUESTION NO: 177
Following is the list of locations in random order where oranfstab can be placed.
1./etc/mtab
2.$0ORACLE_HOME/dbs/oranfstab
3./etc/oranfstab
What is the sequence in which Direct NFS will search the locations?

NEF P ®

ooOw»
oW e
WWwN N

Answer: C

QUESTION NO: 178
While performing the backup of the flash recovery area, you notice that one of the archived redo
log files is missing. You jhave multiple destinations for archived redo log files. What implications
does it have on the backup of‘the flash recovery area?

A. The backup succeeds-but-itweodlid-be-withoutthe-missing-archivedlog-

B. The backup fails because one of the archived redo log files is missing.

C. The backup succeeds because it fails over to one of the alternative archived redo log
destinations.

D. During backup, you are prompted for the alternative destination for the missing archived redo
log file.

Answer: C

QUESTION NO: 179
You performed the RMAN database backup with the KEEP option. Which two statements are true
regarding this backup? (Choose two.)

A. The KEEP option overrides the configured retention policy.

B. The KEEP option is an attribute of an individual backup piece.

C. The backup contains only data files and archived redo log files.

D. The backup contains data files, the server parameter file, and the control file even if the control
file autobackup is disabled.

Answer: A, D
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QUESTION NO: 180
Which statement is true when Automatic Workload Repository (AWR) baselines are created using
baseline templates?

A. AWR baselines are always created as repeating baselines.

B. AWR baselines can be created on the basis of two time values.

C. AWR baselines are always created with infinite expiration duration.

D. AWR baselines are always created using the Automatic Workload Repository (AWR) retention
period as expiration duration.

Answer: B

QUESTION NO: 181
What two statements are true regarding the recommendations received from the SQL Access
Advisor? (Choose two.)

A. It can recommend partitioning only on tables that have at least 10,000 rows.

B. It cannot generate recommendations-that-st |ppnr1‘ mi |Ifip|n worklaoad gy ries.

C. It can recommend only B-tree indexes and not bitmap or function-basefl indexes.

D. It can recommend p4titioning on tables provided that the workloads hgve some predicates
and joins on the columns of the NUMBER or DATE type.

Answer: A, D

QUESTION NO: 182
What are the advantages of variable extent size supportfor large ASM filgs? (Choose two.)

A. Itimproves performance in the extended cluster configuration by reading from a local copy of
an extent.
B. It improves resync ogerations when:the disk comes online after being taken offline for
maintenance purposgs.
C. This feature enables faster file opens because of the reduction in the amount of memory that is
required to store file ¢xtents.
D. Fewer extent pointer$ are needed to describe the file and less memory|is required to manage
the extent maps in the-shared-pook

Answer: C, D

QUESTION NO: 183

You plan to collect the Automatic Workload Repository (AWR) data every Monday morning for a
month. You want Oracle Database to automatically create a baseline every Monday and remove
the old baseline. What is the correct action to achieve this?

A. Create a repeating baseline template.

B. Insert a finding directive for future ADDM tasks.

C. Create and populate a SQL Tuning Set from the AWR on every Monday.

D. Change the RETENTION setting for the AWR snapshots to 7 days on Monday.
Answer: A

End of Document

Page 62 of 62

[Get Certified @ TEST-KINGS.COM



http://www.test-kings.com
http://www.test-kings.com

